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1) 30* x 292 2) 303 x 293 3) 30% x 29* 4) 30 x 29°
69. 6I6VEVTLD QPBENMB 6TEWIHENTHDS OBTEWIL. 5 E6VHS 616616 61601 6m01 N D
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1) 4 2) 4! 3) 11 4) 22

80. aibd Byenih CaThHHEHD EenewITe E60L6OTOMID WHBBID 61hS cpeim CaThaEmD b
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88. (BWFH6L N @BemB Buled eTewiHellas CLHBHHENT OHIILY
D) 2nCy X 1P, 2) (D" X2nC, X By 3) (D" X 2nCy X 2nB,  4) nCy X B,

89. NCy,nCs5,nCs SuFwemeu APulled ( Sl BSHOSHTLMEL ) o 6iTenen 6163160, N-631 O]
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QHTLT(pedB 6163160, N-63T LOGHILIL]
1)1 2)2 3)3 4)4
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1) @rewibd Wemd (LpLD 6TEWTHEMTGLD 2) @Ueni(bld G6MM (PP 6I6WIBETEHLD
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215. y = a@ﬂ@,j—;—eﬁ[ &I

a—2z
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216. y = cos(sinx?) eafled, x = \/g—a‘) Z—z—s&r DN
1) —2 2) 2 3) —2\/% 4) 0
217. y=mx + ¢ wppd f(0) = f'(0) =1 eaaiev, f(2) e
) 1 2) 2 3) 3 4) -3
218. f(x) = xtan™1x aefed, f' (1) eraiig
T 1 T 1 T
1) 1+Z 2) E+Z 3) > T2 4) 2
219. %(8’”’510“) GTTLIS
) e*.x*(x+5) 2) e*.x(x+5) 3) e* +§ 4) e* —;
220. x = 0 —eb, (ax — 5)e3* —ai1 aumEs0H1 —13 awied, 'a’ —ar WAL
1) 8 2) -2 3) 5 4)2
N\ 1=t2 N AT
221. x = Y T oo 6TeoMl6V, -, TSI

rooTTooTTT

n =2 2) 2 3) —§ 4) §
222. x =asinf By y = bcosH mao’ﬂm'),% STSIILIGI

D %Secze 2) —ZseCZH 3) —%secg’H 4) —a—zsec39
223. log, 10 —y Qummisa logox —61 auemnssH6isLp

D 1 2) —(logiex)> 3 (log, 10)’ H =
224. f(x) =x+2 eaafled, x =4 —60 f'(f(x)) —e1 wHIY

1) 8 21 3) 4 4) 5
225. y = (1;)2 msu‘ﬂai),z—z—m LG
Mﬁpszlmmmv=9—@ggﬁmw§m

n1 2) —1 3) 2 4) =2
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227. f(x) =34x%2 -9 ,1<x <2 aafed, x =2 —60 f(X) &1 aelILGES IMBHOBD

3x+4 ,x=>2
1) 0 2) 2 3) 3 4) 4
228. f'(a) o _eitengl erafley, limxﬁaw GTGHTLIG
) f(a) —af'(a) 2) f'(a) 3) —f'(a) 4) f(a)+af'(a)
x+1,x<2 _ .
229. f(x) = {ZX 1 x>2 areflen, f'(2) eraiiug
1) 0 2) 1 3) 2 4) FlL&HHICUBTSHI
230. g(x) = (¢ + 2 +3)f (1), £(0) = 5 wipmid lim,_o 2= = 4 aiafen, g'(0) e
1) 20 2) 14 3) 18 4) 12
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231. f(x) = 5,%6=3 , x=3—a f'(x) eeiugl
8—x ,x>3
H 1 2) —1 3) 0 4) L &HBLIOLBTSHI
232. x = =3 =60 f(x) = x|x| —er euemamuiL_6desr DSHNIL]
1) 6 2) —6 3) L SaLOUDBTH 4 0

233. f(x) = {2613;)1 ’2:1a ;;C ; e srafend BHDHHTEVID FnBBIGEN60 61& GCLOUILITEIS?
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234, f(x) = { , X =1—60 cuen®BemOWITEIS 6160160

E ,others

|
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2 2

1) a——b—
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2
235. f(x) =[x — 1| + |x — 3| +sinx ai@ub 1Ty R —60 cuensmemOWITsTS Lo sear
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) 3 2) 2 3) 1 4) 4
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236. [ f(x)dx = g(x) + ¢ aaled, [ f(x)g' (x)dx aemg
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237. fi—fdx = k(3§) + ¢ afed, k —ebr gy

1 1

4)

1) log3 2) —log3 3) —

log3 log3
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® MLWSHTE SHLULSBHTE [HHLDSHBEUTISHI
19 17 23 13

1) P 2) 5 3) = 4) 3
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7 17 29 19
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269. aufleng 2 o enL Ul SiewiseT HewidHHlev Sewlulesr o miliser 0 Slevevgdl 1w HGW
o eitengl 2 afled BHTHOHBHHHLILGLD Siewiuler SienisGasmenel WAL LFHLIOBBHTHS
SLLILSBHTR HHLDSHHE]

3 3 1 5
1) T 2) 3 3) 7 4) g
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279. A,B wopmib C ered

271. A wppidb B gufu &m Hapsdlast A € B wppid P(B) # 0 e mrilesr
LeTeu(hHeuesTeuBmIeT 61 Gouiuwimesg?
1) P(A/B) =% 2) P(A/B) < P(A) 3) P(A/B)=P(A) 4 P(A/B)> P(B)
272. @@ ewuuled 6 LFMF, 2 CeueiTeneT WBBILD 7 SHLL BB LbHSHIS6T 2 6iener. &
UhSBIHeT @07 FowgHHe0 61bhHGHLCUTH Sieme GeuaiBGaum MBLOTES EHLILSBESTET
BBLDSHBTOIH]
68 71 64
1) Tos 2) — 3)—

73
4) —
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273. X wimn Y aem Bn Depidsamse P(X/Y) =%,P(Y/X) =§,P(Xny) =
aafled P(X UY) —ai1 &y

1
1) 3

1

6

2 1 2

2) ¢ 3) - 4 3

274. @ gamouiled 5 Feull B 5 &SHUY BB UbSHIS6eT o eiener. mouled(hHbal
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B UbSHBEHD 2mouied WemiB emeusbsLiLbBHlaimet. LetenT mouledmbal @h LbH
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5 1 7 1

D 2) 3 5 9 3

275. Qeiml (LpHeL BTN eUeDFUieTen @uled eTenrdelelhbdl FoaUTUILIL (Lpedmulled e 6Teml X

. . (x—10)(x—50)
CaHMHOHBEHSILBSHBEH. —————

30 > 0 aaugmaIl UTHd GaFuiwbd eremienentd GCsHiTa)
Quiub Bapsd A eaefed, P(A) o

1) 0.20 2) 0.51 3) 0.71 4) 0.70
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5 1 4 7
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283. LSS BTWIWLHBISMETS SFewIBGLCLTH GHmBHHH 8 HMeVH6T FHMLLILSBEHTE HHLDSHH6
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CLPGUMRIGBET  OLOUIOWIEHTHENTS  E(HLILISBEHTE [HHLDHEH6
1 2 3 4
D3 2 3 3 3 49

Page 13




TIPUCToOTTT

T

T

TUT v Ctoretoetreet T

)
=z 0.8V ¥7/.8¥6
Ll |d|g || |d|t ||| ||| |o 1d IVONVOVAIS
IVLLOM'S'S ‘'SSHO
m NVONININVNVYNOD'A
— AN (N < ([N O |~ (o] | O — | N o | < LN
SN |ININININ|IRIN|N|~|[© [0 o |0 |0 [0
)
zZ
A i o | N <t | <t | N <t <t | AN | N N < i o < o | < (< o — | N AN | — <t (o] o
Zla|lan|m|g|n|o|~|o|lo|o|dla|mist |n|jo~s]o|lo|old|la|m|is n|lo|s|olalo
ITITIRIZIZSIZSTSISITIDIRIL D@L L(LR|SL|8(8|8 |09 |99 |9 |]
o NN AN (N AN | N (@] AN ([N AN | N AN N o AN N AN N AN | N (gl AN | N AN (N AN | N (o] o
)
Z
Adln|g|m|mda|g|m|n|d|g ||| |a]|m|dld || |ad|m|a|ad|;m|s = |m
Zla|ln|m |t |n|o|~]o|loo|o|dlan|nt |nn|jo~|o|lo|old|la|mn|g |n|lo|s|o oo
— — | — | — | — — | N AN | N AN | N N AN | N AN | N o | ™M o o ™ o (M oM o o <
Ol jN NN [N |N N[N NN [N N[N [N NN [N || (N [N [
wn
zZ
A on AN < o (N NN < — | <t | N AN N o <t [N < ([N - | i — <t AN | N AN | N (V] <t
L Z a2 |in oo |o|o|d|la|m|gd |(n o~ |old|a|n|s n|lo|s|lo|lalo
"” 00 |00 |00 |00 |00 |0 |00 |00 |00 [ [0 o o &) &0 & o0 |&d |&v |[© |o o oo |o|6 |o|o|e =
)
zZ
A on M | < - | M AN | N on — | N M o < | N ()] o | < < | N o™ | N i — | o < — (<t < —
Z lala|migs|ln|ols|o|lalo|dla ot v ol o|lo|o|ld|a|;m|d |n|lo|~|o oo
in ln|n [ |n (A |in | |[h |G || || | |6 |o |©|o |RININIKININIRININ|IN|®
Q i — i i i — — — i — — — — — — — — — — — — — — — — — — — — —
)
zZ
L= |a || |a = v & |= | = fen = [n o a0 = & e e e [ [ e s (e s jen [ [
Z - la | ls v o= lo oo = laloe |+ v o (= oo o= la o |+ (v o s o o |o
gla g @ |laala@|ald@|a@|dlo@o@@|FIX|E[EI(TIEEIEEIEE
— — — — — — — — — — — — — — — — — — p— — — p— p— — p— p— p— p— — —
9]
Z
Lla | [l | |en|=|n|o |= |—= |5 | |a |v a0 & fen [en [ | | |0 [ |0 & e [ e [en
8 N. S — o (N <t v (\O [y o0 ([N (en) — | (ep] < | O ~ |c0 (@) (@]
olzlglelzigzizieicgicielcieeeceglezlzizizizizizIzz |8
(@) (@) (@)} (@) (@) (@)} N N (@) — — — — — — — — — — — — — — — — — — — — —
)
zZ
LIt |~ = |~ |~ |la]la|=|la|s |6 [— |« |a e |en [o [ fen [—= | e |en o |ed & e [ [~ e
=z
Q — o o (<t a) O [ [o%e] e =] — A (N <t v (\O ~ oo |\ o — | o < ([ \O C~ |00 (@) (]
O \O O [\O \O O [\O \O O (>~ ~ ~ |~ ~ e~ |~ ~ ~ |~ [e%0] oo | o0 [o2e] oo |0 o0 o0 | o0 [e%e] (@)
)
Z
A (q\l o — | (q\l [e\INKsa) o [a\ Il Koo} — on | — — < | — — <t <t [— N < | (ep] [\ Il Koo} on (q\]
=z
Q — o on (<t v O [~ [ele] AN O — [\ Il Kep) <t v (\O ~ oo |\ (@] — | (s8] < ([ \O >~ |0 (@) (e
on on (ep] on on (ep] on on on <t <t <t <t <t <t <t <t <t <t wv wv w wv v w w wv wv wv O
)
Z
Lln |a o |—= |[—= [« |a & |on [ (e fen en e [ |en o oo e s | = [ & |en & [= [—= |0 |
Z
Q O = [N fen [ | O |~ o [ [© |—= | |on S | [V [~ (o & |©
— ||t nw|lo|lmlo a2 R | |= R [=|= |22 Q 06 |aQ|dQ|«&Q Q&

Page 14

V.GNANAMURUGAN, P.G.T. G.H.S.S, S.S.KOTTAI, SIVAGANGAI DT. : 94874 43870




T T e e e e T e e e e T e e e e e e e T T e e e e T e e e e e e e e T T e e e T e e e e e e e T T e e e e e e T T e e e e e e e e T

V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870
https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

T T T T T T T T T T T T T T T T R R A T T T R T T T T R T o T R T T e T T T T T T R A R T T A T W A A T W W W L W A W L W W A AL S W

__ T.omiEEpd SiamilsCaTamelsEiD. MW PRI s aiento apamevell L 2 miiyseliar Lig — 5 1D TRSCCONTS 2pqr(p + q +71)°
1.515?‘;1@@%@@@@?.4 LSS “m=>5-—3=2, Bsupeiten wBOBTm e b+c a—-c a-b>b
X 2 2 2 : =
k(x? +y2 +2z%) + l(xy + yz + zx) sysb. 4|/b—c c+a b—a|=8abc aar Pmieoys.
2 x+2 5 |=(G—-1)2%(x+9) aor Bmieys. 1 x2 3 v _
xX* x c—b c—a a+b
el 3T s 1y ¥ = =0 - D= Dk +y7 +22) + Tl
Al=]| 2 +2 5 165, 1 z2 7° '
41 2 xg + 4 e l(xy +yz + zx)] - (1) C_b c—a atb .
x . L _ _ . a=0 aailev |A] =0. aeBeu a sryemiwm@Lb.
2 3 § gwat (1) —e0 x=0,y=1,z=2 eaenniyshuiL, ) )
. b =0 aaied |A] =0. eaaniBGeu b sMyewlWLITGLD.
x=1 aaie |A[=[2 3 5|=0 Sk+2l=2-(2) c=0 aafed |[A] =0. B ¢ sTFeEWTESLD
2 3 5 gwar (1) —e0 x =0,y =-1,z=1 sanigduiL, . _b . |A|: ) o . T GLD.
(pETDI HeTHEHD FTeusio, efaiGa (x — 1)? smyaniwm@ib. 2k—1=-1-(2) o a@iﬂm?ﬂu@ _62 By GTLLITEHAP:
x=-9 aafled |A| =0, aeBes (x +9) smeElwTEGLD. g (2),(3) — ms s, |k=0;1=1 L, e L = : . .
PTY . R . ’ ’ 2 |A] —e1 (wa&TemD cpemevail L o mitisefer g = 3
S —1D%(x+9) eaiug |A| —er sryemilwn@ib. 2 .3 \ ; )
ol Befai —3 1 xz x3 “m=3-—3=0, Bxweten wBOBTMH &Tyewi k SLGLD.
fi;'l” S 8 ol _ ] |1 y* Y= -G -2 @ -0y +yz+2x) b+c a—c a—b
— O (PHATDID ApmEvaTLL 2-BiLBermer Hig = 1 z2 23 b—c c¢c+a b-—al|=kabc—- (1)
xrzl_j 3 —33 =0, gﬁ@@omm LBEBTH Sryenl kK SuE@LD. (q +71)? p? p? c—b c—a atbh
2 x+2 5 |=k(x—1)>2x+9) - (1) 3.lAl=| ¢ (@+p? ¢ |[=2pgr(p+q+ A= O,bb=+1,CC =az_ ?G“'am_ﬂfujL: k=8
2 3 x+4 X r? r2  (p+q)? )= lb—c cta b—a|=8abe
x% —ai 2 _giliysmen BEUBUPD FSLGEHS, K = 1 Sy@b. r)° e Bpieys. c—b c—a a+h
x+1 3 51 2 (q+2r)2 p? 2 Pz b+c a a’
=2 x+2 5 [=G&-Dx+9) lAl=1] q (r+p) q S5lc+a b b*|=(at+b+c)(a—b)(b—c)(c—a)seem
2 x3a ax+4 r r? (p +q)? ®a+b ¢ oc3
Qg urr:l) la x a|l = (x—a)?(x+ 2a) een . p=0 aafed || =0=p 9@ @mm. R i+
! )a a x ( ) ) oo q=0 eaaled [A| =0=q @w smyewi _b+C a a; .
1 1 1 r=0 aafed |[A| =0=1 @ syl |A|_C+Z b b2 CTER
- : = ; : ; a+b ¢ ¢
2)|x v zl=G-y)-2)(z-x) a@ Do p+q+7r=0 aaled |A] = 0. Guwaubd cpaIm HenyaoEHid B ) S 3
X2 y? 2 gireusiolb, senGeu (p + q +1)% @@ STyeiwnGib. a=b (’m{ﬂ@ Al =0= (a—b) o0 smw.
2 .3 ~pqr(p +q+71)? aeug |A| —ar sryeuilwngb. b=c aafed 4| =0=(b—c) o6 sme.
ek sefaeia Ly =5 c=a aaied [A] =0=(c—a) g smai.
2 3 — _ _ \(C ~a R _ _ _ . _ . .
2.1 y2 y3 x—y)y—-—2)(z—x)(xy+yz+2zx) alem 4| —a1 (psaamio apmevaliL o miiysefar L = 6 3 (;Gﬂ g(b c)(_c3 a) eeiugl |A| —ea1 sryemiwmGLD.
1 z° z vm=6-—5=1, Bsweien wnomprm smeni k(p +q +71) Syenlimeniar L GT . . )
BBIa)s. S, |A] —a1 (psaiemn clpemevall L o mirisefer Ly = 4
1 x? x3 (q +7)? p? p2 “m=4-3=1, Bswsien wBOBIH Sl k(a+ b+ c)
Al = {1 y? y3| aes. 5 p 5 3 UG ID.
1 72 3 q (r+p) q =kpqr(p+q+1)° - (1) btc a a
= - — . z 2 2l =k(a+b+c)a—-b)(b—c)c—a) - (1)
x=y aafed Al =0= (x—y) @m STy r r @"‘CI) c+t+a b b (a
V=7 oo 1Al =0 = (y—2) o @, p:l,qz(l,rz)zl mmulglﬁﬁujL,k?Z a;l—(l;bc_lcz _ st 4
z=x aafed |[A|=0= (z—x) @ oryew. q+tr p p a=b,b=1Cc=2 ear ufHuiL -
(=) (y—2)(z—x) eeiug |A| —ar @myemilwmEGID. ()= q° (r+p)? q°
sryenfiseier Ly = 3 r? r? (r+q)?

Page 1

T T W R T T T T T T T L T T T T T e e M N " N N N " N N " N N N N Y T T T T T T T T T T T T T Y Y N e N N "N

-
-

-



-

. w2 e Ml
roTnpsc.co

T T T T T T T T e T T T T T T T T T T T T T T T T T T T T T T T T T T T e T T T T T T T T T T T T T T

T T T T T T T T T T T T T T T T e T e T T T T T T T T T e T T T T s

E b+tc a a Wivw.Pgdas iiu.NgeCt <2 1 — 22 op 2 WWW. 1 2 _3 1 1 E
(D =|c+ta b b*[=(a+b+c)a=b)(b-c)(c—a) 8.x 1 x| =[ —x? -1 x* - 2x| a&1 Beys. =3 2 1f|=|5(-20+12-22) ;
: a;}i—b C4-T-2 — x x 1 Z—xz x% —2x -1 -1 -8 1 f
. —X x X 1 x x 1 x x| |1 x x 15| — :
| 6.816&: [4+x 4—x 4+x[=0 LHS = 1 = 1 X 1 l. 15| .15 A . . 2\ . f
; 4 4 4— x X X X x x Qauig umir: (0,0),(1,2),(4,3) e o _&Fdlieirelamens ’
. 4 — x+ x4 + x+ x4 +x X " x x 1 X x1 i lx x 1 QBTewIL  (1p&BHTanISHE 6T LITLIenLIE  &HIT6wib. ’
. X x X x 5 P ; —
Al = l44+x 4—x 4+x| aws. e 1 xlxeneEn|ex 21 Zx 11..(—3, 0): (3,.0), (9, k) eainys L&é]uufmaﬂasas.)mas szsrrsml_ ;
g A4+x 44x 4—x AT @,paal(Saarrsu'mgsé]w[ Uyl 9 s3I DeVG>6i elafied k —6it -
. 5 . 5 160 L denct x —x -1 IDFIDLIS STERIS. g
y 12+x 12+x 12+«x 66)1” _5 g EQD;E’&’ uu;; b (W&ECaTemsHer LUFiL= 9 &F.9) ’
| =|4+x 4-x 4+x[Ri >R +R;+Rs _ _xzx —xl x2f2x — RHS x, yp 1 E
: 4+ x 41+x z{—x ) I S =>§x2 v, 1l[=9 ;
. X 1 ;
=2+ x)|4+x 4—x 4+x ol a4 21 €1 . ¥ . . 33 Y03 ; :
g 44+x 44+x 4—x R = |a, 2 Cy| ele0l&.A;, Dj, Ci, L = 1,4,5 6T60ILIGUMM3I60T 1 - : ’
, L0 0 ¢ —c as SR =3 0 1f|=9=[nE3-3)=9 :
=240 [4+x =2x 2%\ L oG Ay B G 0 k 1 /
. 3 3~ L2 . . . e 2 [
|l 0 Bmmmsamymiast 4,5,C asieo by By G = | o] =9 = K =9 = =53 ﬁ
- | Ry oG elfleyubds, A3 Bz (3 . . ) Y-\ . f
| = (12 + x)4x? a6 [BIeys. Qguigl uir: .(k, 2), (2.,4),.(3,2) aeip o Fdlse menends ;
1A= 0= (12 +x)4x2 = 0 a by o] JA B G g&’”@“ ﬁ@&@aﬁ."mw.“ LI 9 S SiGmst aafid |
ﬁ 2ni . Y a b cl x |4 B C —060l LDSHILIGDLISD BHIT6e0ISH. ;
g = 4x_ 0 ooz = (_12_+ HINSED az bz Cz AZ BZ CZ 12.(a,b +¢),(b,c + a),(c,a+b) eamen e GHm_emioll :
| = x=0 @owop) x =12 5 3 U3 5 3 - . Letellaai eTam Mimieys ‘
A _ 2 2 2 2 ™ — Blewy GlLhHB60LIY, ' f
|4 2bc—a fN- b> | Z b ve @yA; + BBy + ¢,C, Az biB, +¢,C, @yAs + byBy + ¢1Ca N ;
A 2ca S b a |~ ¢ Z oreat = |ayAy + byB, + ¢,C;  ayAy + byBy +¢,C,  ayAs + byBs + 5 C; waGstemgHen ugiy= [~ [0 v, 1 g
ﬂmlmals’ a 2ab—c c a a3A; + b3By + ;€ azA, + b3By + ¢3C,  a3As + byBsy + ¢3Cs x5 ys 1
E a b c a0d°Cc a b c 1A 0 0 _1a b+c 1 _1a+b+c b+c 1 e E
\RHS=1|p ¢ a|l =lb ¢ a|lx|p ¢ a =0 14 ol=1ap =;p ct+a 1|=|7la+b+c ct+a 1|16 =+ -
. c a+b 1 a+b+c a+b 1 ’
. bc a b c ba b c a b 0 0 4] b .
A a c a c 1 +c 1 .
A Ay By G Ay By (G 1 ;
| =|boc Z x (=1) Z @ blR; & Ry |A| x (4, B, G| =|AP=[4, B, G| =I4J? - E(a+b+c) 1 C:ll_—Z 1 =0 (+6=6) /
y c a c a a /
. A; By C A; B; C g
f a b c —a —=-b —c 3 b3 (3 3 b3 (3 S . . ;
ol o dxle 4 b 10.(—2,-3), (3,2), (—1,—-8) aeip o_sdlLcieRmemens g“gg CanBoatu Geiten Lsiiaisel @@ GoTeivoem /
’ QameniL (WHBHTERISHH6H LTINS SHT6wHIS. ' .
. c a b b c a a b c b+c c+a a+b /
E Heny — BHIed GLHHSH6LIY, _ SO s X1 0N 1 13B3A=|b ¢ a| wBmd B=|c+a a+b b+c E
A 2bc — a? ¢S b? WaGaranbglen Lgiy= [>1X Y2 c a b a+b b+c c+a f
| = c? 2ca — b? a? = LHS x3 y3 1 a@wapiar selsCstamasmen alflauGsHsmos |B| = [
E b? a? 2ab — c? 2|A| aien Mmieys. E
E V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870 Page 2 E

https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

B T T T T T T T T T A R T T T T T T A e T T R T T T R T T R e T T R R T T R A T T T o A A A T T A T T W W L A A W L A W W A



T T T T e e e e e . O O O O e e e e e e e R e e e e e O O O O O O e e e e e e T S e e e T T e T T O O S S e e e e T T T T e e e e O . O O O e O O e e e e e e T T S N N B T T T T T T T T e T T T T T T T T T T T T T T T T T T T T T T T T T T T e T T T T T T T T T T T T T T

b+c c+a a+bh WWW-PHOESAIFINEY oh b2 + be 2 + ca Wb (POLTGD 66T HBIays.
| IBl=]c+a a+b b+c =2|a®+ab b? ac (3 aufBw alfleyubss, f
. ) ab+b I%-I_Cb c+a2 : ab b? + bc c? (aa + b)[b?a + bc — aca — bc] y
| (@+b+c) 2(a+b+c) 2(a+ +C)R S a?+ab b?>+bc c?+ca R, - R, — R, — (ba + ¢)[aba + ac —aba —b*] =0 |
' cta a+b b+c 1 1t Ry + R =2 2 2 2 .
, a+b b cta = 02 —bc —¢® |R, > R, — R, =>(aa+b)[bc;—aca]—(ba+c)[c;c—b]=0 ;
. a+b+c a+b+c a+b+cR R.—R —a 0 —ca = a(aa + b)(b* —ac) + (ba+c)(b*—ac) =0 ’
=2 —b —c —a RZ - RZ Rl (1 aufBw alfleyubss, = (b? —ac)[aa’? + ba+ba+c]=0 E
. ~F —a Y 3 7 3T M = 2[(a? + ab)(abc?) — a®*(—b?*c? — bc3 + bc? + abc?)] — (b% — ac)[aa? + 2ba +¢] = 0 :
a b c = 2[a3bc? + a?b?c? + a?b?c? — a®bc?] = 2[2a%b?c?] = b2—ac=0 (or)aa? +2ba +c =0
‘ =2(-D(D b ¢ a|Ri > Ry +Ry+ Ry = 2|4 =46112b2C2 1 1 = b?=ac=a,b,c g@m G.P wpmibd !
’ c a b +a . 2 _ . . ’
. a aaiug ax® + 2bx +c =0 —a 6ULD. ’
4 b+c bc b?c? 16.] 1 1+b 1 =abc(1+l+l+l) o160t 2 gdz b b L -
‘1 14lc+a ca c?a?| =0 e Bmieys 1 1 1+ a b ¢ a“ +x a ac /
. ‘ ‘ e 18.| ab b? + x2 bc aap SlewisBsTaney ’
.| |b+c¢ bc b3c? 1+a 1 1 . ac bc ct+x ;
. c+a ca w2 1 1+b 1 X g0 UGUGBLD 6Te [HmI6Ys. -
| la+b ab a?p? 1 1 1+¢ R, Ry, R3 ;% (%mm@m c;, b, c —si0 (;\uqba‘aas,
| Ry, Ry, R3 —3 (pewmBw a, b, c — 60 OLihés, R1'R2'Rl3 —& (LDGFIBGUJ il' b, c —aued s, ) a(a® +x%) ab a“c -
ab + bc abc ab?c? IZ B2 = - ' =—/| ab’ b(b? + x?) b2c
| =—-|bc+ab abc bc*a? Ol ac? bc? c(c? + x?%) -
, ca+bc abc ca?b? _ = aoc || b Cy,Cy,C5 —@o0 Bmbal a,b,c — CeuelCu aBbs, /
: C,, C3 —®e0 b@@g,@] cllbcb—% GeuefiBui 61(hb, % % %+ 1 > (@ + x2) a? . /
. abc :
d __abcxabc Z + g 1 B 1+l+l+l 1+l+l+l 1+l+l+i —E bz (b2+x2) bz ’
/ abe Ciz 1 C(lla ak o W MU . STRe c? c? (c* +x%) /
! ca c a = abc 2 = E —>R.+R, + :
. ab+bc+ca 1 bc b 2 F'b T R12—’R12+R22+R32=> P
‘| =abclab+bc+ca 1 calC - ¢+ B e P x*+a -|;b +c* x +a2+b2+c x*+a -|;b +c?| |
, ab+bc+ca 1 ab Ri— B0 Bopsl 1+=+-+-—x GouelGu aGss, b (b* + x°) b ;
| €1 — B0 BwbHal (ab + bc + Za) —m GeuelGu 1B, 1 1 1 c? c? (c? +x?) [
; 1 1 bc 1,1 aylEaNy L R, —@e @mbs x2 +a® + b? + ¢? — OQeuelBu aiBdbm®, |
/| =abc(ab+bc+ca)|l 1 ca|=0(:C =0C) =abe(1+5+5+5)p 5T 1 1 1 i
? 1 1 ab c ¢ ootl — (P4 a?+bi+c?)|p? (BE+x2) D ?
. a? bc ac + c? 100 2 2 B2 ’
| 15.142 2 = 4a?b?c? 1 1. 1|2 1 o|lC.—>C—C c c (c* 4+ x*) ’
'|15.la?+ab b ac | =4abh°c’ g Bpes. =abc(1+2+:+)|p Gl s 10 C,>C—C :
, ab b* + bc c? 10 1] 773 ™t =(x*+a?+b2+cH) b2 x2 o2 2 1 .
f a? bc ac + c? L1 © Lok 1 2 0 x2 C; > C;—C, ;
‘| |la®*+ab  b? ac =abc(1+E+E;E)(1)(1)(1;:abc(1+E+E+E> = (x?+a%+b?+c?)1.x%x%* = (x> + a® + b? + c?)x* E
' ab b? + bc 2 a aa + a? + x? ab ac ’
’ 2(a* +ab) 2(b%*+bc) 2(c*+ ca) 17.] b c ba + c| = 0 ei@fleva, b, ¢ ereiTLIGN | ab b2 + x2 be e oefsGorame x* oy |
- =| a?+ab b? ac Ry =Ry +Ry+R;3 ae+b ba+c 0 ac bc c? + x? ;
: ab b2 + be <2 G.P —60 Simoujlb Sie0evg o aaiug ax’ + 2bx + ¢ = aUE@LIBLD. ;
. 0 —er 19.a, b, c aiciueneu 10ems WBDHID Senel @ G. P —ar ‘
E V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870 Page 3 E

https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

B T T T T T T T T T A R T T T T T T A e T T R T T T R T T R e T T R R T T R A T T T o A A A T T A T T W W L A A W L A W W A



T R e e e e e e O e e e e T e e e e e e O O O O O O O e e e e e e e e e e e S O S T N = T S R S T e N e e e e e e O O O O e e e e e O B S e e e e O O O O O O O O e o e T ) T T T T T T T T e T T T T T T T T T T T T T T T T T T T T T T T T T T T e T T T T T T T T T T T T T T

E loga p 1 wyw.PgiasalarNgty - 3 _9 WWw. TTDTNRSC.CO 21 0 34 5 0 8 1 0 2 ;
. D, q, T S o DIlLE6T eTamed logbh q 1| =0 een 20A=14 -5 6| aafled A eaap Senfluilear Siemardbsl = |12 8 23|—6|2 4 5|+7|0 2 1(+kI=0 !
: loge r 1 o l-3 5 21 o 34 0 55 8 0 13 2 0 3 i
f Y FippenilsCareneuseT LOBHID ENCRIHTT 6T HEM6ND BITEwISD. 21 0 34 -30 —48 7 0 14 ’
’ L ! AASE Bapepl LWRTLGSS |A| srewis. GoEId 6abd @® By 12 8 23|+|-12 —24 -30 0 14 +kI=0 |
| .a,b, G.P— ,q, . ) . .o . . . 2\l _ -
: ta _2 rﬁ;ﬂumm ) & p,q, T DB 2 BIILST Sieoes Beeott LWELGSE eifeLGsHemeb A — 3¢ 0 ss) l4g o —78l lis 0 21 ;
A0¢E 1 WS LOTHIUH 6060 TRIFFTILMTSHSD. g
|ty =a=a=ARP™ = loga=1logA+ (p—1)logR et sGHTeneUB6IT: =0 -2 0|+ki=0=-2+kl=0=kl=2] ;
- = = q-1 = — -5 6 4 6 0 0 -2 I
, ty=b=b=AR ) = logb =logA+ (q —1)logR My =7 |_ —a0;My, = | %, 5| =26, ST, ;
| tr=c=c=AR""" = logc =logA + (r —1)logR 1 5 a8 7T T ;
| |loga p 1| [logA+(p—1DlogR p 1 Mis =1 _3 5|=5M21=|5 2 | =16 na=[2 0 3 p= 1 o C=2 1| aefe |
-\ |llogh q 1| =|logA+(gq—1)logR q 1 Moo =1L _2|:—4-M :| 1 3| — 14 1 4 51 _q ;
g 22713 2 T3 5 ’
| [loge r 1 logA+ (r—1)logR r 1 3 5 1 22 A(B+C)=AB + AC Gr@m) u@mﬁﬂsmm& &rﬂurrrr f
‘| logA p 1] |(p—DlogR p 1 May=|_5 ¢ |=8;M32=|4 6 |=14; 3 -
.| =|logA q 1|+|(@q—1)logR q 1 Mon = |1 | — _17 B+C= [ 1 0 ] [ ] g
- 33 |
| llogd r 1l lr—1DlogR r 1 T 4 —1 f
? ek 1 p-1 Bexl i 4 6 2 0 Lo ?
| =logA Jlt q 1 +logR q—} q 1 A = 5 2|5: ‘40‘A12=‘3_3 2 SO, AB+O =[] 4 [36 17 M i
" r r— —5| _ . 2| _ _1¢. - ;
; p—1 p—1 1 An=|2% T|=5 4n= |5 =1 ot 0 31 (1) [ :
|=O0%logRla-1 q-1 1|62 GmG I e EEREL P it z
j loga rl_l i Ay =] 3 _2|=8-A = | _2| 4\ ;
. g 4 31 . B A2 =", 6 AC = [2 0 —3] 2 1 [ 17] 5
|~ |logh q 11=0 P |=_ 1 4 5 17 f
| Jloge r 1 #7145 —6 17 1 13 ?
, ; R, enfBu elfauGss, AB +AC = | ] [ ] B (2) ;
: 7\ L Al = 1(—40) — 3(26) — 2(5) = —128 S ¥ 36 .17 :
1204=|% | |aafed i, det(AX) =3 (1-) aar . (1), (2) @b @@w A(B +0) LB tac ,
4 o 1 3 4 €1 aufBw allfleyu®sds, AL 2 3)_ -8 -9] f
| ey |A| = 1(—40) — 4(16) — 3(8) = —128 #aly 5 oo=l7 T o) e ;
E B » 6h® @b B SI06VHI HIFenevll LIWLGTLGSS) Sl FF LT 9enaT Henme| QFuud A eam Sienlenuid E
. S« 1 1 1\3 alfleuBsHemeid |A| —a1 &I OTHIIS0Mm6V. SITG01Eb. .
| TN SO " 0 f
‘ 2 2A=0 2 1| wppw A3 — 642+ 7A+ kI =0 eaafed 15 d3 8 . :
| I, det(49) =1+(1)2+(1)3+--- 2 03 Al | = [ W el /
;| “k=1 ] Y 4/ T k —gs stems. 4 Sb 61 > 2 3 ‘g —g .
?1+(1)+(1+ C.P 1 0 2][1 0 2] [5 0 8 =[* 7] | = [ ] ?
& ety T ca A2=AA=10 2 1{|0 2 1f=|2 4 5 b 2045 3a+6h 8 -9 :
: a a a -8 -— .
|=ma=g r=<1 2 0 3ll2 0 3/ I8 0 13 [ ]=[ ] ;
A 4 4 c+4d 2c+5d 3c+6d 2 4 ’
: 1(1_(1)") 1, 1 5 0 811 0 21 121 0 34 =a+4b=-7 > (1); 2a+5b=-8 - (2) /
AR N G LD R G ) B YRS AB=A2A=|2 4 s5|lo 2 1|=|12 8 23 ' ,
T T T 1 T E . 3 an c+4d=2 > (3); 2c+5d =4 - (4) ’
: \ 8, Mensliz 0 3] G- 55 s (1),(2) —ms Sids= a=1,b=—2 /
| - 20 det(4¥) = (1 - =) A® = 6A> +7A+ kI =0 e G o ;
‘ e gwar (3),(4) —ms Feses=c=2,d =0 ’
E V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870 Page 4 E

https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

B T T T T T T T T T A R T T T T T T A e T T R T T T R T T R e T T R R T T R A T T T o A A A T T A T T W W L A A W L A W W A



V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870 Page 5
https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

B T T T T T T T T T A R T T T T T T A e T T R T T T R T T R e T T R R T T R A T T T o A A A T T A T T W W L A A W L A W W A

2\\\\;\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\W\M.baa@?a\l\l\l\ei\\\_)\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\R/\\\.TFD\I\H\SE.\C(\)\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\:\:\:\\\\\\\\\\\\\\\\2
| A= [2 ] OP = n+:b —>061 _ d+b+c —)OGZ _ d+b+¢ —)063 _ atb+c ﬁ
- | Qeuigl Ui 2 -' P N o { = 0G, = 062 = 0G3 .
: 2 -1 -1 -8 -10 A = G QurgIiLsie ?
D1 04T =1 2 —5 | aenioTmieien A etedt 2 ‘ & S ' ’
d B _ ‘ S (pEHCamentdhHer HHHCHTHH6T @(h LeTeriluied ’
. -3 4 9 22 15 i FHBEID ’
7| Slewillenuis HTeuTD. | 3 — 55 @ — ’
. 1 2 2- | QWb BIHSID Qemenayons Qboss Cpeeuuer wBEID |
y o r ) ) 7 Gumgiomer BHLbHMET DIHET (PO L MiS6IT ;
| 2)A = 2 1 =2 wpmib AA" =9I aefled x,y —eb . _ 8 LS BMHFLHIMPBL THUSTSLD eaLBemen CeusbLT (enpuisd ’
. ol 20y OA=ad,0B=>b susb.0P =7 aais. B 116 . ’
. | PLIL|SMENs _EHTewis. AB aiai GaHmBHEieniean. P syaigl min e1aim ;
. 1 3 5 adHHHe0 o L Lmons LIMNCILSTed ;
125 A=|—-6 8 3| aaim Sewllevwl FWFFT LOBWID 6THT [AF] _m :
| o ko 65! 5]~ n < :
4 [QV . P — -
. (el rrlg 355560T =65 rrals 6[%96@83_4 =>Tl|AP| mlPBl ABCD Gremg} rrr,rrm&ﬂ_e_r,ﬁm @ﬁm@)mﬂl_l_raleﬁm AC,BD a&im. |
lA=|-6 8 3|=4T=|[3 8 6] = n.AP = mPB (- AP,PB @6y Heng CeudL THe6iT) 0A=ad OB=b,0C=2,0D=d aens. ’
; -4 6 5 , g 13 5 = n(OP — 04) = m(0B — OP) Case(i): f
y - 5 oy 7 = ABCD gt @mmaauw 61601 . :
lp=1 ™y 1 =n(#—-d) =m(b -7 pipsgd ABCD @ /
| P=zA+4 )—2[‘3 bo 9] L 408 ( 9) AB =DC = OB — 0A=0C — 0D :
g 1 9 10 = nr —na = mb —mr P ged_d :
pr 1 2 -3 1 , = n? + m7 = nd + mb :q_f:g 3
E - N _13 196 190 B = F(n+m) =nagk mb N ail+1: ) E+Ei * :
, . _ nd+mb = b 2 o0 GBS [
| aP=2(4+47) QH FFST SlewilLmEGLD. =7 = na+m 2 2 (@f@)L_IH}@ =b ' @ ) _ -
. 2 nrm- = AC —e1 ewowilieiied = BD —eir emiowiliLjeter -
‘ 0 9 9 AP _ nat+mb NN . i . . .
, 1 1 = 0P = 2 elpemevalll L BIG6T @aTenpOlLITeis S maIndaapiBLD. ’
j Q — 2 (A _ A ) — = _9 O _3 - n+m - . = . . - ‘s j
. 2 9 3 0 2.9 WaGarangda HOHCHTGHT @@ Ueefluiled Case(ii): :
: 0 —9 —9 FHPBGID 16 GeusLiT (penpulled BimIcys. BIBsTD ABCD —ai cpanevail LEIS6T @eanpeuUTeams) E
A QT =1 9 0 3|(=-0 AT @@&Loe'f,ah@l'_l_rrd) g
. 2 T~ a+é _ b+d g
g L 9 -3 0 2 DR - = o =a+c= b + d '
B _1 _gT . . o . i '.7 o "-'-.:j\ S 5 — — -
| rQ=5(4-4 )26@’“” Ba‘w&f” @*““ﬂg“@;& . o N —p—d=¢—d= 0B—04=0C—0D ;
, - N e —— = AB = DC = AB,DC . /
la=P+0=21|—3 16 9 9 0 -3 - . > = Ol = L3907 Do /
? ‘1 9 10l *l-9 3 ¢ B G d+¢=b+d :
. 8.06usbLiT @wiiasenlgLd AABC —ev ussmiset AB,BC wppib CA —e1 bHLILeTeNSHeT —d—-d=bh-2C= AD,BC @enew. :
E 1L.URey #5HTHMS ( 2 LLpors LIfHHe0) 6w Bnleys. we»pBw D, E wpmib F eresics. - ABCD gt SeemisyLb. [
- | O-weu pFunsaid A wppid B -ow gls@mid S OA=3d OB=Db,0C =2 aeits. 4.9 (PHCHTMISHHET BH LbDmIB6T6 HHLILGTENDM6TE ‘
" | yetelaenmaad Gameis. Goeib P eeis yeeflwmeng AB B+é ——  é4+d ——  d+B CoibE CHTECHTE SIHET (APAIBIME LUbSHHBEG Ement |
Al o ont e A Gugid 0D = =< ,0F = ==, 0F =2 : e D Gl et [
- | aap CaTBHSBIENmL M: N 6ap aldlssHded o I LBLors 2 6TEIRYLD, DIFHET HETHHle0 LTE elaiad GClaudbLiT (Lpenmuiled f
| ONsdme aes. & wppb b eyfume A wmpib B —er AD, BE i CI.: gg,,é]maugzamgj. @@m@u"_ Gl_' G2 \DBmI> By y
E Beveo GeussLimenmuis P —a Hleney Geudiir G; gfwemen o L plons 2: leais aldlssiHdHe0 LIMlILSHTe0 E



T T e e e e T e e e e T e e e e e e e T T e e e e T e e e e e e e e T T e e e T e e e e e e e T T e e e e e e T T e e e e e e e e T

T T T T e e e e e e . e O O O e e e e e M R e e e e e O O O O O e e e e e O T S e e e T T e T T O O O S S e e e T T T T e e e e e . O O O O e e e e e T T T N B B

ot T T T T T T

ot T e T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T

W

ABC @ wa&Gsmenid, Ludssmisel AB, AC —ea1 BOHUL6Te &6
D,E eae01.0 Gramugu gj,ﬁuumaﬂ

0A=a,OB=b,0C=c

0D = ©E pF = &€

— —— ——= @+¢ a+b ¢é-b 0C-0B BC

DE=0E-0D="——-—=—"=——=—
= DE || BC

[DE| = - |BC| = DE = ~BC

A

5.9 BIBEISHar Lbsniseiear HhLsTellsmens GFirah@Lh
CrTaCaTd @PMH SMMBTHMD DIMDHGLD 6160 GleudbLiT
(wenpulled [BmIeys.

L

ABCD qm mipayb. 0 eeiug sypaligeied. P,Q,R,S
aleiilenr Lssmisen AB,BC,CD,DA —ei Lr,@uummﬂassﬂ

ﬁ’:ﬂb’OQ:ﬂ’OR:ﬂ,ﬁ:ﬂ
2 2 2 2
— P b+¢é d+b c-a
PG=00-0P=""-"2="75 ()
SR=0R—05 =222 9, (9
2 2 2

(1), (2) @ @apa, PG = SR = PQ Il SR
®516urevBeu QR || PS ete01 Hmieueumid.
* POQRS @m BenewisyLb.

6. ABCD e mBiB&ysHFHev AC, BD —aii BOLILeiTel &6l E
wompib F 5 Sliier AB + AD + CB + CD = 4EF e
Boie)s.

ABCD qm mipaybn. O eleig Suallieer.

d.¢=(20—j+k).(i-3/-5k)=2+3-5=0=3d1¢ d=31—]—4kb= —20+4]-3k=1+2—k
V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870 Page 6

d

T
dasatar. NeI '_,_\‘ y ; W

= — "1

0A=d, 0B=b,0C=¢,0D=d
AC,BD —eu [5@LIL|6‘ITGTﬂc$61T E woppib F.
a+é =7 b+d
2 - -
= 20E=d+¢ 20F=b+d

AB +AD + CB + CD
= 0B —0A+ 0D —0A+0B—-0C+ 0D —0C

= 20B — 204 + 20D — 20C = 2b — 2d + 2d — 2¢
=2(b +d) — 2(d@ + ¢) = 2(20F) — 2(20E)

= 40F — 40E = 4(OF — OE)

= 4EF

72T+ 4j + 3k, 41+ j + 9k, 10T — j + 6k ea&ip
CeusLiTHemen Hlenew OCeusbL THenTes OCHTRIL LisTen®sT Qb
CFmIBsmemt (PHCHTMIHMS DIMIDSHGD 61T [HIDBI6YS.
0A =20+4]+3k 0B = 41+j+9k 0C=107—j+ 6k
AB = 0B — 04 = (41+j+9k) — (21 + 4] + 3k)
= 21— 3]+ 6k
AB? =22+ (-3)2+6%2 =49
BC=0C—-0B = (107~ + 6k) — (47 +] +9k)
=61—2]—3k
BC? = 62 + (—=2)2 + (=3)2 = 49
CA=0A-0C = (20+47+3k)— (107 -] + 6k)
—87+ 5] —3k

A? = (—8)2 + 52+ (—3)2 =98
“AB? + BC? = CA?, Qan(psaiiur L LeTefseT o
CamBsment (PHECHTENHMDH DIGVLDSHGLD.

8.20—J+k, 30— 4] — 4k, 7 — 3] — 5k oudw GeusbLirssi

Qh CFmBsment (PHCHTENHMDH DIHIDHEGHID 6160 [HIMI6H.

G=20—]+kb=31—4]—4k,é=1—3]— 5k

G+¢=21—j+k+71—-3/—-5k=31—4j—4k=b
Q,b,¢ o LWaGHTHMS DIMLEELD.

=

~d,b,C @m QemBsrean (psECHTEIHMS DIELDEESLD.

9.7+ 2] + 3k,37 — 4] + 5k, -2 + 3] — 7k eyHwuemar @
@ds(%&,rrmg,gy%&l (el iLeiTerM s erflesr nj]ama)@eu&,l_frasm 6160160
@{5@ @as(%e:—mmg,_@%m SBBETEN6UDH HTEWISH.

0A—l+2]+3k OB = 31—4]+5k 0C——21+3]—7k
AB = 0B — 04 = (31— 4j +5k) — ({ + 2 + 3k)

= 20— 6]+ 2k

|[AB| = /22 + (=6) + 2% = V44
BC=0C—0B = (-21+3]—7k)—(3i-
= 51+ 7] — 12k

|BC| = /(=5)2 + 72 + (—=12)% = V218
CA=0A-0C = (i+2j+3k)— (=20+3] - 7k)
=37—j+ 10k

|CA| = /(3)2 + (=1)? + (10)2 = V110

(Wwa&Garems e ammeney= AB + BC + CA
= V44 + 218 + V110

47 + 5k)

10.A(1,1,1),B(1,2,3) wpp €(2,—-1,1) sdw
Yeitel®elT @f pawUss (PpoHCHTamHIHT (LPENILIL|6TerEelT
61601 [HImI6Y .

OA=7+]+k OB =71+2]+3k0C=21—]+k
AB=0B—-0A =([+2j+3k)—(+]+k)

-

=07+]+2k
|AB| = V02 + 12+ 22 =5

BC=0C—0B = (2i—j+k)— (7+2]+3k)
=7-3]—2k

|BC| = /12 + (=3)2 + (-2)2 = V14
CA=0A-0C =(+]+k)—(21-j+k)

= —T+2]+ 0k

|CA| = J(=D2+22+ 02 =+5
|E| = |E4)| = /5, QasTEHsILL L Leiteflae @b

BHIFLUES (PHCHTENHMS HIMLDEGLD.

11.d=30—]—4k,b = 20+ 4j — 3k wipd & =1+
2] — k aafle, 3d — 2b + 4¢ OoISLHEE ST SI0VE
OB 0TS BTGNS,

https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html

T T T T T T T T T T T T T T T T R R A T T T R T T T T R T o T R T T e T T T T T T R A R T T A T W A A T W W W L W A W L W W A AL S W

T ML WL N "N N N N N N N N N N e N e N N N T N N N N N T R T T T L L L T T T T T A R R T N N N " N N N " N N N "N SN N S

-



T T e e e e T e e e e T e e e e e e e T T e e e e T e e e e e e e e T T e e e T e e e e e e e T T e e e e e e T T e e e e e e e e T

o T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T e T T T T T T T T T T T T T T

|3d — 2b + 4¢| = /172 + (=3)% + (—10)2 = V398

3d-2b+4¢ _ 17i-3j-10K
[3@-2b+4¢] V398

SV OeudL T=

12.yeiteiaeir (1,0,0),(0,1,0) wimd (0,0,1)

SFWLaBB (peaILiLeTeNsenTas OBTemwiL  (LdGaTemntd et
BOECHTHH6MNET FHmFHh OCBTHFHHMENS HTERIS.
0A=7+0/+0k OB = 0{+]+0k OC=00+0]+k
AABC —eb usasmser BC,CA wppidb AB —e BELILeT6S6T
wep@uw D, E opmib F ereiis.

A(1,0,0),B(0,1,0) wmmi €(0,0,1)

X1+Xy Y1t+Y2 Z1+2Z;

e

05 = (0.3.4): 97 = (2.0): 0F = (3.1.0)

AD =0D — 04 = (0?+§j+%§) — (7 + 07 + 0k)

\/( 1)2+()2+()2—J1+ +i= o6

BpBHCHTH AD —ei1 HewgsHosTenaai— {

[uy

/1/

N

}

L1
)

I<|| L
Iﬂ|
I<||N

2 4l
iL

AR

+0

@sn® BE a T \pa ! ﬁ
ICEAEEAC) —&1 HwFHOBTMF6FT= R
2

2 2

3

= (GT+07+5Kk)— (07 +

I
i
B

|BE| = J()2+( 1)2+()2—J +1+—

\_.v_/

_{L 2% i}
- We'V6' Ve
=(§?+§j+0§)—(0?+oj+ﬁ)

T T T T T e e e O O O O e e e e e e e e e S e e O O O O O O O e e e e T . M R S e e e T T N S T O = S S e e T T B T e e e O e O O O O O O e e e e e e e T R S e e e e O O O O O O 3

[

13.51 + 6] + 7k, 71 — 8] + 9k, 31 + 20j + 5k sy
CeusLTH6lT @ Hom CeudbLTH6NT 616THHTL (Hb.

G =50+6]+7kDb=70—8]+9k, ¢ =37+20j+5k
Qb o GeubLitase &I GULTE: [d b ¢l=0

. 5 6 7
[@dbé]=|7 -8 9
3 20 5

= 5(—40 — 180) — 6(35 — 27) + 7(140 + 24)
—1100 — 48 + 1148 = —1148 + 1148 =0
S 0ETheEsIULL CeusbLTHelT h He CeusbL THeT ESLD.

14. 41+ 5] + k,—] — k, 31+ 9] + 4k wigid —47 + 4] +
4k S FweuBensB HemevbeudbL THEenmes OBTemiL  L6iTer el
P SO SINLOGUDT 6ITHBTL(HSb.

0A=41+5]+k OB =—j—k,0C =37+ 9] + 4k, 0D =
—4T + 4] + 4k

AB=0B-04 =(-]—k)— (41+5]+k)
—47— 6] — 2k

AC=0C—04 = (31+9j+4k)— (41+ 5]+ k)

—T+ 47+ 3k

AD = 0D — 04 = (—4i+ 4] + 4k) — (41 + 5] + k)

= —8i—]+3k

QH FHem CeudbLTHeT &L (HLum: [E AC ﬁ] =0
-4 -6 =2

[AB AC AD|=|-1 4 3
-8 -1 3

=—4(12+3) - (—6)(—3+24) — 2(1 + 32)
=—60+126-66 =—-126+126=0
» QEThHSSIULL OQeudbl TH6T @@h He OleudbL TH6T HLESLD.

15.&,1_5 SFWemed VG OCeudbL THeT BBID 6 66T
= a3

BaumtBg QL L Gaomewid elefed (1) sing

V.GNANAMURUGAN, PGT, GHSS, S.S.KOTTAI, SIVAGANGAI DT - 94874 43870
https://www.trbtnpsc.com/2018/07/latest-plus-one-11th-standard-tamil-medium-study-materials-download.html .

Wyw.Pgdasatar.Net W S |a-b|
3d — 2b + 42 & . R |CF| \/( )z+( )2+( 1)2 = \/ +1+1=\/§=_6 (u)cos—z |a+b (ul)tan—z| 7| TRSHSTL (Hb.
=3(3T—7—4k) —2(-2T+ 47— 3k) + 4@+ 27— k) 4 N dl = 1|5 = 1
- - 7 - - > - - 7 1 1 - a 5\ ) =
=91—-3]—-12k+41—-8/+ 6k +41+ 8] — 4k BB&CETH CF —a1 SHenssOsTansea= {%,%,T:} e P2 e 122 e
171 — 37— 10k LR (D|a—b| =1dl*+ |b| —2ldl|b|cos6

=(1)2+ (1% =2(1)(1)cos@ =2 —2cosb
= 2(1 — cos 8) = 2(2sin? 9/2)

= |~ b| = 4sin20/, = |a-b| =sin2/,
~b|

(i)|a+b|" =al? + |b|" + 21d||b| cos 6

=(1?+ (1)?+2(1)(1) cosh =2+ 2cosb

= 2(1 + cos §) = 2(2cos? 0/,)

= |d + 5|2 = 4cos? 9/, =>%|& + B|2 = cos? 9/,

ﬁCOS—= |a+b|

.61
= sin-==|d
2 2

6 sin§ _ sla-b|
(iii) tan- = —5 =
COSE

_ la-p]
"~ |a+b

l|d+l7|

16.4,b gD ¢ yHweme |d| = 2, |b| =3,|¢c| =4
\é

c'l ||

opgd d+b+¢=0 am owwpsTed 4d.b + 3b.¢ +
3¢.d —»é STeNIS.
ldl = 2,|b| =3,I¢] =4

- = - e - - > 2 -
a+b+ 0=>a+b=—c=(a+b) —(—c)2

l

Cc =

33 _

12-96

R T A A R T T T T T T R T T T L T T L T T L N R N N N N "N L N N "N " N SN N R T T L T L T T T T T A A N N N " N N N " N N N "N N N N "N N " N L N SN

Page 7

T T T T T T T T T T T T T T T T R R A T T T R T T T T R T o T R T T e T T T T T T R A R T T A T W A A T W W W L W A W L W W A AL S W



T T e e e e T e e e e T e e e e e e e T T e e e e T e e e e e e e e T T e e e T e e e e e e e T T e e e e e e T T e e e e e e e e T

T e T T T e e T e e T T T T T e e T T T T e T T T e T T T T T T T T \\\.\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ Y \\\\\\.\\\\\\\ B T T e e T T T T T e e e T e e e e T T e e e T e T T e e T T T T T e T T T T )
= — ) ~ . . S ~ Wivw.PadasajaiNet — WWW. TTDTTSC.CO )
17.a,b,C e1aim cpeim Geudsl w6t |d| =3,|b =4,|c| =5 =1—-2]—k (ixk| =a,’2+a,?> - (3)
BBID PeIOeuT(H OCeudslL (HD BB @ OCleudL THerier T7 k D+ (2)+ (3) =
Fn 5&HF QFRIGHHTHEAD SIMWHSHTO |d + b + C| — maé AB X AC = |- _ el I S 72 R
BODIBE ©SITHN barob | |- = 2 0 5 ld x 7%+ |d xJI? + |d x k| =2(a;? + a,% + a3?) = 2]d|?
BTG5 1 -2 -1

ld| = 3,|b| = 4,1¢| =5

@6UGeuT(H GeudbL (B BB B GCeudbL THeMeT gnBHebEHE

CFRIGHH o1eCe,

d@.(b+¢&)=0=db+dc=0- (1)

b (@+3)=0=b.d+b.d=0-(2)

¢(ia+b)=0=¢Cd+éb=0-(3)

(D+@)+@B)=2(@b+b.é+d.c)=0

la+b+é =1al?+|b) +1e? +2(@b+b.¢+a.c
=32+44%2+52+2(0)=50

= |d+b+¢ =V50=V25x2=5V2

‘N Ay

!

=7(0—10) — (2 +5) + k(4 — 0) = =107 — 7] + 4k
4B x AC| = (=102 + (=7)" + #*
=+/100 + 49 + 16 = V165

V165

AABC —eit upliy= %|Z§ X ZZ:' =— 5.9

18.d = 20+ j + 3k wimb b = 47 — 2] + 2k
SFLmBEnHG DLUUL CxmenisHHer enaFeal LoBBID
CETemael LFILHMm6TD HTERIS.

d.b=(20+j+3k).(40—-2/+2k)=8—-2+6=12

ld| =v22 +12 + 32 =14
|b| = /4% + (—2)2 + 22 = V24
ab 12 12 V12
€S0 = GG = Viavzi - vaoamas 2 2x/_ 7
o7 E
axb=| 1 3
4 -2 2

=1(2+6)—j(4—12) + k(-4 — 4) = 81+ 8] — 8k

20.p&Camemib ABC —ei1 2_&dllyeiafiaet A, B, C —ear Henew
Qfmésl_frer,sﬁ apepBuw d, b, ¢ aafed (p&BGamemid ABC —eit
[axb+b><c+c><a] oTe  BepLISSHI.

@QS]QS]@[_F,@ A, B,C sfwemeu gBr GmireGsm igsveniowl
BILHSMTDUIS BT 6w,

0A=d 0B=b,0C=¢

AABC —er ugliy= él@ X A—)Cl

- L|(0F - 07) x (0€ - 0A)
=-|(b-a) x (¢ - )
=-[bxé-bxda-axE+ax3dl
=-[axb+bx&+éxd

A,B,C spslwemen @By GCpiTeGamigevenioul BiLbEHeneot
AABC —eit ugliy= 0

= [axb+bxEé+Exd]=0

uyLiLeIey

= [axb+bxZ+Eéxd|=0

2.4, b, ¢ HIB VG OCEISLTHEHHS ab=d.c¢=0

]

oi@Id b —s@b € —&@b B@Liu L Gsmewbd — e

w

ldl = |b] = 2] =1
db=dc¢=0=dlb;dLé=dll(bx?)
=>€1=i( x¢) - (1)

=la|l =+ |b||c|sm§

=1=+tADDT = =2

\
[S=Y
—/
Q

= i%(l;xE)

10.6uens® [HIcwTHERNSHLD
GUNGEMLD LOBBILD 6UMBUIL 6D (LPeNBEH6IT

Ly = e ' gaieo (1+x2)y" +(2x—1)y =0

T BITL_([Bb.

tan"1x

y=e
auenasUiL,

-1 1
= y/ = etan "x
y 1+x2

=1 +x?)y' =y

e euemasui, = (1 +x2)y" +y'.2x =y’
= (1+x2)y" +2xy'—y' =0

= (1+ xz)y” +(2x—1)y'=0

= (1 + x2)y’ = efan '

|d x b| = /82 + 8% + (—8)2 = 8V3

, |a@xb| 8v3 8v3 8v3 2
SN0 = G|~ Viavei - Vooaas . wiG v
19.A(3,-1,2), B(1,—1,-3) wimb C(4,—3,1)

aFweaBes o FdlieTelsanmesd CoTemr  (pdGHmentd a6
LITLILIGT6N6UE  SHIT600T .

0A=31—7+2k,0B=1—7—3k0C=41—3]+k
AB=0B—-04 = (i—j—3k)— (31—]+2k)

= 20+ 0] — 5k

AC=0C-04 = (41-37+k)— (31— + 2k)

21.ambH0aun Qeuslit d —s@b |d X [|% + |d x J|* +
2
|a x k| =2]d|* aar Pepiss.

=
(_i = a1?+ azj‘l' a3k 6TGT .

ld| = Va2 + a,? + as?

ldl? = a;? + a,? + aj3?

axXi=|a, a, as|=as]—azk
1 0 O

ld x 1|2 = ay? + az? - (1)

B 51CuTevGa!,

ld x JI* = a;® + az® > (2)

sin™ X

— 2 — v =
2.y—J1_— aafed (1 —x°)y, —3xy;,—y=0
oTRATHETL_(Hb.

_ sin”lx — % _ -1
== = yV1—x? =sin”x

BeUBWLD aésiupdhs,= y*(1 —x%) = (sin~'x)?
amaul, = 2yy'(1 — x?) + y?(—2x) = ZSin‘lx.ﬁ
= 2yy’ — 2x%yy’ — 2xy? =2y
+2y=y’—x2y’—xy— 1

Lﬁamir@m Ui, = y'’ (x2 "+ 2xy")=(xy'+y)=0
=y —x%y" =2xy'—xy' —y=0
= (1 =x?)y" =3xy' =y =0
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>'\'\'\'\'\'\'\'\'\'\'\'\'\'\'\ T T T T T T T e e T T T T T e T T T e e T T T T T T T T T \\Paaa\s\al\a\l \I\l\ei\ T T e e T T e T T T T e e T T T e T T T T T T T \\R/\ Y ?FB I\ﬁ SE.\C(\) T T T T T ;T\ T \x\ T T T e T e T T T e e e T e T T T e T T T e T T T T T T T T T Y \\>
= (1 -x)y, —3x =0 mw = N j
. ( )yz_ Ny : T 6.oumaui®as: y = cos | 2tan~! |== 4\1V2 ’
- 13.x =a(f +sinB),y = a(l —cos ) eaafled 0 =3 1+x ajamaaude—u=—l -
f : m_1 . X = cosf eens. "ax 2 f
, aTeIbBurg y'' = - o BebLb®. sin x 2 sin(x/z) cos(x/z) ;
| x = a8 +sinh) = Z = (1 + cos ) = 2acos? (2) |1 _; |1 —cosb v =tan™’ (1 e ) =v=tan”’ 2(X f
; a6 2 y = cos| 2tan T = y = cos| 2tan FRTOAY cosx 2cos2(*/,) f
y 6 6 N y
g —a(l—cos@)=>—9—asm9—Zasm()cos(z) = v =tan 1(tan(x/2)):>vzx/2 f
; 1 ;
Clay i dy/de 2a sm(g) cos(g) W sm(g) _ tan (9) 5 NE 25in2(9/2) AUMBUIL,— = 3 :
| =S = = > = y = cos| 2tan™" | ——z= ;
| e 2“052(?) cos(3) g Y 2c052(0/,) du_ Z _ =p009 ;
|y = Y i(d_y) [ (9)] aw @1 ;
Y= dx2 "~ dx \dx dx tan 2 1 sm 9/2 ¢ \/ﬁ—l T :
A i[tan (Q)] 46 _ o2 (3) A = Lgect (9) =y = cos| 2tan cos(%/5) ou =tan™t———,v = tan"'x aafled — sras. 4
' ae 2/l dx 2) "2 2(8 4a 2 !
f A 2acos?(3) . 0 x =tanf eea= 0 = tan"x .
| 0=5= =y = cos (Ztan tan( /2) = ran-t (Y1 gt (Y01 E
; " 1 i 1 4 1 1 — 2 0 AN 2] N LA x = tan tan 6 ’
y :_Sec ( 2)——sec4(z) :4_(\/7) :4__4:_ = y=cos(2xY/,)=y=cosf =y=x ) :
; 4a a a a d . (Vseczg— ) _ -1 ’
. . _ dy _ sin?(a+y) ] ausUIL, — = =tan~! (Ll) tan (ﬂ) =tan~1| sl .
| 4.siny = xsin(a + y) eafed T oL o BlebLSD. dx - tan 6 tan 6 T ’
- ¢ -1, _ a . —1 X NS a . _ =
| @ne a #nm 7.tan” x —y QUTWISSH Sin (1+x2) T GUMBHOB (LMD — 1C§:Z9 P 1—cos @ -
* | siny = xsin(a + y) BIT6UIEb. = tan % = tan sin 6 f
’ i .1 2x cos ;
= x = ﬁi’y} f(x) =sin™?! (1+x2) L zsin2(0) i (sin(8) ’
: 1 OUTHIS x =tanf eeis= 0 = tan"'x wen 2sin(0/,)cos(%/2) ) ran cos(9/,) ;
|y — w0 GuTpisSg euemsull, 3 , et 2 2 2 :
d : i L\ = P n 0 = . -
. dx _ sin(aty)cosy—sinycos(a+y) f(x) =sin! (=) = sin! a—z = sin~1(sin 26) = tan"ltan(g/ ) -
. dy sin2(a+y) 1+x2 1+tan?6 5 0 d 1 1 E
u
. d in(a+y— . . . = = =) = — SU=—=- —_—=- ’
f ﬁ = —S;?éz(ayw);) (*+ sinAcosB — cosAsinB = sin(A — B) f() =26 =2tan""x = f'(x) = 2. 1+x2 1+x2 u=3 tazl x= dx 2 1+x2 :
- _ _ —_ \ C -1 _ 9
E dx _ ' szina ay _ sinz'(a+y) g(x) = tan 925 =49 '(x) = 1422 v = taTZ x 1: 1d_x = lix2 E
: dy  sin2(a+y) dx sina dz - af _ £ ) )\ T . du _ d__z _Fmp 1 -
‘| 5.y = (cos™1x)? aafled (1 — x2)— 5~ x-—2=0 aa dg g’ v T2 f
© | BepLilds. CGoaib x = 0 —ar Curgl Yy, wFHlmUs SHTERIS. 8.tan~1 (ﬂ) —en QUITHIE tan‘l( sinx )_ &1 ’
, Ney, . 1  \iising) 8 °HTBISS T+cosx 10.oueauiBs:y = |x +Vx + Vx ;
|y =(cos™'x)* =y’ = 2cos™ 'x. (— ﬁ) AUDBHOB(DNS  BHITERI. :
: / — -1 . —1( cosx g
. = V1 —?cz.y"—.—Zc.os x 2~ raeilE 1.2 Uy ks (1+sinx) y=Jxtvyx+ Vx ’
| BoLpwd aitesiusss= (1-x*)(y")? = 4(cos™x) . i) ) Y = :
| = A=) =4y sin? (¥ ) +cos? (¥/)+25in(*/;) cos(*)5) BEUBED_ATSEIIEES,= y* = X + VX + Vx /
| BawmiBid euamaui, = (1 — x2)2y’ "+ (y)?2(-2x) = 4y’ U = tan-1 ([Cos(x/z)+51n(x/z)][Cos(x/z)z—Sin(x/z)]) u=x+ \/E 61601 Eb. 3 g
2y => A —-xD)y" —xy'—2=0 [cos(*/,)+sin(¥/,)] auenmuTL, E HhH = y
: = (1- xZ)dZ_y A\ xd_y —2=0 u = tan-1! [cos(*/5)—sin(*/5)] ) !
’ dx? ax [cos(*/,)+sin(*/;)] ye=x+ xd+ Vx = y? d_ x +Vu ’
g d y d d y _ X _ 1 u n
x=0=(1-(0)=Z2-(0)Z-2=0=>2=2 = cos(X = gn-t (2ECR L (E_f)] a2y > = 1+ —= ;
: dx? dx dx? = cos( /2) = u =tan TGy = tan™" |tan (7 — 3 dx 2vu dx /
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=2 =1+——(1+55) = w=4364x105% + ¢ 5 (1) BEUBID NGEILGHS, ;
. o1 zvx;”/; 1x - " L 16 SuBEsEsEL LInG Wwisdear o wrpb 149 Gs.18 -
| = dz —|1+ —f(l + m)] 0 0 US_ BHSGID. ,
4 p y ) 2V x+Vx ) ( . ) 150 5 4..omemTeueT Qe ST Gt emgddeled 24 18/alemmg |
| === 1+ 1+— ] ‘ CaussHed OFaip OHTNYHSEGWLOUTSE], GBI L f
. d - =0 _ ’ .
, ¥ gferfardEl VAR 2 h=0,w=0:(1) =[c=0] B SHMSH0 HAHS (paLTs 40 1BLT OFTenevaied ;
| ay 1 [ P S 2~ (1) >w=4364%x10"°=>(2) %Qbfﬁ@% sGUT6 1551 Gursmes selibs aTEMSHMS ;
f dx | | 2Vxvx 4ﬁ/x+ x e (150)3 DiHS Couemiguieiiengl. 2 L QNQUITSS SHeTEIGHL LI g
. A X+Vx+‘/§_ h=150,w =0:(2) > w = 4. 364 X 1075 5 ansagms 8 /alamg’ adit WEEssHded GassHmamHd f
A N 1 4x/E\/x+ﬁ+2x/E+1] N GMBEHADBTT ealied eunasand sGUNe g Curgieusie f
g 0 O f’ o
y o, [x+x+vxc b G Eaat] S @ puflar @ wgd 150 G518 o5 Bméb@n Curg el ;I,D;rr ﬁ%@?’g{g 4= —8 18/eflemy’ ;
dy _ _4VxVx+Vx+2vxtl © 2a aob 18 = i _ 8 = d_ 8dt ’
- o\ . o o o 0 o, =V . — T — v = — .
, S . e 3.9 wWrsHer eueniFdl t S emBBHeM60 NG 0F.15/ syem1(H ac o 5 o [ —agr /
’ 11.05Tens HIETIHNSID a@id alssFed auenT@mg. t = 0 een BHEGSIOLTS Boupyd GstosuiL= [dv = [ - 5
| Leom OsTLT euewiy &I ShALTI[HbE GHTUDLSSTT &U-'Ulb_ 5 QE-Lﬁ_ @@55@@ 61607 ?@5_@155@5"5_‘@—"5}3 . ) ) -: _v =—8t+c—- (1) ’
| Gprad pused 3 wanllée v(t) = 20t + 50 &i6/wa E@I))Lbrrm@ ammmgp Hp& wﬁﬁm &U‘;]JU.EJQD.E)&’ ST HGysme LwaLESSIDBUTE ¢ = 0,v = 24 i
o oo . . AISHSHMEN SEIBBEHHESLI yHHeT o wyLd — 2 — f
- | sl Plews GoussHdled LBLLIGHBSH. DhiE t D5 Q%%Lﬁgfj)mfr,rjr,g&@@és@@i © BS& 107> J (1) =24 = 8(0) +c :> ’
E eniBeied SHenebdL LILBSBSE eTafled WOTemeL 5 LDewNdE dh  as.0\Cdn -1 ()= v=-8t+24|= —t = —8t + 24 E
| HBOBILIT ousaily ailqianal SID LS bG0? T w182 — ds = (8t + 24)dt ;
- J— S p— I
: v(t) = 20t + 50 = — = 20t + 50 = dh = (18t_1/2) dt Bmupuwd OFtmsulL, [ ds = [(—8t + 24)dt -
| = ds = (20t + 50)dt , 1y t? 2 f
. = = s5=—-8—+4+24t+k=—4t*+ 24t + k i’
- | ®@mupew Gstesul.=> [ ds = [(20t + 50)dt Boupwd Ggresui= [ dh f(18t 2) ee 2 ’
: 20t 5 ) s = 5= —4t2 + 24t + k - (2) ;
| = s = +50t+c=>|s—10t +50t+c|—>(1) = h =18 X +1+cﬁh=18x —+C s=0t=0'(2)$ -
. 2 2 ! . e
j (t) 3 = h=36t72+c - (1) « (2) = |s = —4t> + 24¢] :
y 5 5 t h Gur LT ewadhslel gule) Hewevdsd eumb Gurgk v =0 ’
; = —8t+24=0=-8t+24 = 8t =24 = [t = 3] f
1 t=0,5=0:(1) =[c=0 0 5 v ,
al (1):8_(1())t2 + @ 4 ? t =3 eaflsd s =—4(3)%+24(3) = —36+72 =[s = 36] |
AN B ? 149 v s =36 <40, autpand HhLLle 155 GTIHTHI .
|t = =2:2)=>s= 2 = [s = 140] . y
. t m?e';zsfa) 5 (Lizsuﬂab ° 1%(2”)Lﬁ+§6(;([2) 140 ;] @140 b (o) t=0h=5:(1)=5= 36(0)1/2 +c= 590 ubsl 39.2 15/ealeamy gL FHanFGeaussded ’
A . | D0IDS DD 5 =l . = 1 ST wWledmbg CebCpred efwILBGE B OmIE ’
/[l SHGSGLD. « (Lp=e =|365 /2 + 5 22y WOSBHm WL alevgemwll GUTBISS 1L BLD ’
.- . . . . . 1 |
| 290 Lr,grﬂm 2_ib .h @E.Lﬁ. IOBEID eTemL. W &.&. oeurflesr t=4h=?:(2) = h =36(4) /245 = 36(2) +5=72+5 SHSIDBLITS) .
: grvavml_u_ﬂm LOTBILD sfg,;o 2 _WIHms L CUTBISSIGH CHTITuIDTES ~h=77 Eg))a@mmém (S_r,rgﬁa asl.g,é)@ﬂ LSl g,anusgm m:rjr@j Guorgid. |
" =—=4.364 X 107°h* eeid QBTGSBLIL[HoeiTeng elafev, . : T Ll + Foi i 0bP LeaIBHDHlev LIbHTAISH SHenJenul GLOTSHID .
| an S BTG SpenlyBE UBE wIsdHler o wgh 77 0F.6 o8 : : : . . s Q- :
‘| sl o WFSHer SFTTUTSS STeush. Gaid @ Hufler B HBGSLD. ;%Egggf af::’:jgjgm gmyib Guoed GEr&AEF GFedgud ’
| W0 130 Gt Bedeh Qg guilss s (50t =7,k = 149: (1) = 149 = 36() /2 + 5 oyt BesGaustd u = 39.2 /ey , g = 9.8 :
E E = 4364 X10°hs = dw = (4364 X 10™°h )dh — 36(t)1/2 =149 -5 = 36(t)1/2 = 144 s = ut — lgtz =392t —1(9.8)1:2 =392t — 4.9t2 E
- | BBUBWD CgTmaui = [dw = [(4.364 x 10"°h?)dh — (t)l/z — ﬂ — (t)l/z =4 : |S — 3922t — 49t2| 2 ;
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¥ Wivw. PaoasaiaN - WWW. TTDTNRSC.CO ’
| t—g0 GuTmSE aumsuiL, v = = = 39.2(1) — 4.9(20) CERERETOT) { . @ xt+1=52x-3)+3 i
; — =7?: = — = - = (. ;
| -[x=392—98(] (@pt=4x=0:Q2)=x=7+1=0+1=05+1 .  lex-9l :
| (@DuUbs Sl DewLujd Curg s =0 1= 11 B 2xx_23—3x+1 3; ’
| =392t —49t2=0=49t(8—-t) =0 mﬂwnw&ﬂwﬁmwmm@j sTuILGHulest ugliuene 1.5 G&.if == Efx2—3x+1 dx + Efx2—3x+1 dx :
| =8-t=0(0)49t=0=[E=8]t = 0oy @svarov) e e = 1="1loglx? —3x+ 1| + ¢+ [ ——dx :
E ~SUBS ST Slewlul 8 afleumig SGLD. 7.LDQ;]IJIj]®&3: fx2+4-x+7 i ) 2 1x2—3x+1+z—z E
- | (@pubg Hmgew Gurgid Gural Geausb= v(8) flx 1 1, i (x =I==>log|x*-3x+1|+=[———dx+c -
' =39.2-9.8(8) = 39.2 — 78.4 = —39.2 16/aflenmig J i dx =loglf ()l + ¢ [ oz dx = Ctan (G)+e 2 27 (x3) % ;
E (@)U_IB@ITGN@J Q]QQ&EBIJI'_B: &u_lu_&,m_&, QJGU)I_U_MD @U”@J v=20 I = f 3x+5 dx el6iiE.— (1) =] = %loglxz —3x+ 1| + gfﬁdx +c E
> :
| =392-98:=0=098t=392=t=22=4 a7 (x—a) %) :
! G GHTEHF CFeeol % . . 9?4) 3x+5=Aa(x +4x+7)+B L 3\/3 ’
~ | GuebBhTEAF GFevad HFBLLF 2 _wifib= S d =1 2 _3 1145 l 25 f
| =392(4) — 49(4)* = 156.8 — 784 = 78.41, = 3" j: g i ;‘fﬁ*ﬁfﬁ - (2) Sloglx? = 3x -+ 1]+ PYEa jﬂj Ay ?
. . .. ¢ X = 44X ;
5-6.;)@@1@55.@ f’JHIULl— .ﬁmf-'w SIS — (H_Z)z Q.15 /pmefr @65 2 mIliFeflen OB(IpSBMmeNF FLOMLIBSHD, =1= %loglx2 —3x+ 1|+ 7log 2§_2+£| +c f
: gaﬂm @ﬁgéﬂm gr{uﬂﬂ}%wwmw W60 @mwgulg]% _ = 24=3;4A+B =5 0.wiges: [ 22 dx ;
| GpN_BESng. Hhs Spmo SGE SNUILGSulsr gy 3 . . ‘) Tt j
|2 G515 aafled (@MiE t eeiLG BT Smend GPbHBE) ﬁ14:;;4(5)+B=5ﬁ6+B=5=>B=5—6 ad xfx /
' (S)epTUBpISS penwep STWILGSUIET LFLiLeney —— J dx = 2 x) +c; ’
| ereleuenoUTE Qb (HHGL? 2 /—f ©) fx) ;
| ()BC8s alzsHled OBTLIHS GeRIOTSS OBTERIHBEG LD ~(2)=3x+5= 5 (2x+4) -1 y
- | Gungl elwmpsbaipamwwaip aHiuTTsG STwl LGS uler 3 (oxta)—1 o f dx = log |x +x2 + a2| +c ;
- | ugly eTelleueney? (H)=1= fzz— = _f > dx — [ . dx Vx2 ¥ a2 ’
; »AGE u@ﬂuﬁlm IJUIJL] 2AGSE 3 \ X“+4x+7 X +%X+7 X“+4x+7 _ f 2x+3 d N ’
E dx _ =510g|X +4X+7|+C—fmdx - \/ﬁ x eraies. > (1) E
. = 3 1 a ;
: d=t dx it-‘-—Z);(t +2)7%dt - Eloglxz AR f(x2+4x+4)+3 dx +c axt3= dx (x tx+1)+B g
. y R 2 _3 2 Y 1 =2x+3=A2x+1)+B - (2) ’
| BoUBWID 2%;@55?&: fdx=[ (igj 2)72dt ~log|x? + 4x + 7| f—(x+2)2+\/§2 dx g s ox+3=24x+ A+ B :
E = x = —3T+1 +c=>x=-3 — tc = Elog|X2 +4x+ 7| — L) (x_”) +c P55 2 _plisellear CGs(pdsmend FLaLbBSHS, E
s x = o (D) 2 3 = —=24=2;A+B=3=[A=1}1+B=3=[B=2] |
: r+2 " . 8.0gNGa: [ ———dx (2)=2x+3=Qx+1)+2 /
. 1 (2x+1)+2 I
. grruj@] 0 ? ff()dx—loglf(x)l-l—cf — azd =— l+ec (Dﬁl ZIW ) ’
. BIBel | 1 2 _ x+ /
: aflwimpenr | 4 ? I = fx2x3x+1dx etei.— (1) f\/ ot zf\/ Zyx+l e f
’ 3 3 = 2/x2 —_— .
; t:1,x22(1):2:E+C:>2:E+C x+1=A4 a(x —3x+1)+B =]=2Vvx*+x+1 +C+2medx ;
e =x=241-() —x+1=24x—34+B = 1= txF 42 ——dxtc /
8 NG j ILBefelT QE(pBHMENF FIOSILIBSHS (s+3) ;
: (o) t=0,x=2:(2) =x 0+2+1 2+1 1.5+1 —2A=1: -34+B=1 :I—Zw/x2+x+1+2f7dx+c ;
? x =25 Y PRPY6) P —143[p=" (e3) (3 :
C | o ehTuIBDIGAPMIDWIETDI STWNILGS U LgliLene] 2.5 =|A= 2" 3 (2) tB=1> Bt 2= |B=3 y
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) | PR T n(B) = k W
— 2 — = -
=[=2Vx*+x+1+2log x+2+\/(x+2) +(2) + n[P(4)] — n[P(B)] = 112

c =2 _kzn(B) Nz = R giengl &Ly oGl
. 5x—7 = 2™ = 2" =112 ~ R gieigl gomensd QBT uGLD.
0.0f086s: | 7 =547 =S e -1 =112 4.5 = (1,2,3} wppid
m-— — o o
[ % g =2 OO + ¢ = Zk(Zm_k -1 = 1f X7 p=1{(1,1),(1,2),(2,2),(1,3),(3,1)} ea6iis. Qzmiy p-m
V() = Zk(z . -1) =k2 X7 () spac @ (ii) swsdr (i) sy (iv) Fwrerd OHTLIL eTer
f—dx = sin™! (f) +c =28=2"; 2" -1 =7 o meuntds p -2 L&t CaredasiiuL Geouemigul 6060
va?—x? . m-k _ m—-k _ 93 .. . . . .
— = k=4; 2 =8=2 =2 BéslUL Gaueniguwl G@MBHIULF 2 _BIILSM6 6I(10H!IS.
I=f\/3x—dx atei.— (1) >m-k=3=>m-4=3=m=7 i) Bmba B:
Cx— 7 = a(3x _x?—2)+B é zﬁ-,.mm 5:2,’,?'5;15{) “m-n %651@] ?2—66T. Lol;_rﬁle?rras @@rj,g,rrsi) '(')1,1)., ;2,2) € p, aaiBau(3,3)-m GFTHHTEL HHBEL L TGLID.
L€ B SILIY MRn” a1 auenuigidbaiL’LTed R eaiiLig giotag i) FLo& T
e T = AR — 2x) 1+ B n@l) ALY a6 Blpilses. (1,2) € p, aanGau(2,1)-m Gsisamed swsdme. (1,2)-m
= 5x—7=3A-24x+B i)Bma B: BHBMeD FIFFITESLD. >
955 2 plysalan Cawssmas sOMLGSS, m—m=0=0X12 = 0,0-ib 12-6T OL BISTGLD. i) LILy:
= —24 :55 ;34 +SB ==7 . (m,m) €R. ~ R ez SHBaL LIGLD. (3,1),(1,3) € p, aaiGau(3,3)-3 B0 HBLIILITGLD.
=|A=—-|;3 (_ 5) +B=-7=B=-7+_=|B= i) FLo&Sir: (3,1),(1,2) € p, aeBeu(3,2)-3 Gaiidmmed sLlmgw. (3,1)-
5 1 (m,n) ER eeiz.k €Ez=>m—n =12k &M HEHBIMeD SHLLLTGLD.
(2) = 5x — 7 o __(3 —2x) + 2 = n—-m=12(—-k) = (n,m) €R iv)FLonerd OSHTLTL:
(1) = I —f —2x)+5 ~ R eyeigl FoFfym@ib. p-gg s @g?rn_fru_rrga 2 _(heuchas (_3,3),(2,1), (3,2)
«/—3,( X2 1 iii)sLLIL; P 2 mitiser Caidsii Geuewi(BLb.
:I———fW +—fﬁd (m,n) ER,(n,p) ER aezs.k,l€Ez=m—n=12k;n— 5.X ={a,b,c,d} wpgib R ={(a,a),(b,b),(ac)} ass.
=121 sty R-m (i) sma @ (i) s (iii) L1y (iv)
:I——— 2V3x —x2—2+c+- f—dx p 2 2D
9. 9 = m—-p=12(k+1) = (m,p) €ER glomels OHTLTY el o (Hheunds R-2 L &1 CairébasliuL
N T v ~ R ouais LI SiELb. Cauainguwl GMBHSLLF 2 DS 61(1DSIS.
= —5v3x —«x 2+- fZ—Bde +c o R@J)GU[@] &LDIT@)TQ'—) @Q—)WLWLI @i,@LD ')@[BB?LG .(al a)r (bl b) € Rr 6-[60-[(86”(6', C)r (d, d)_% GB:H'Q—)Q—)WGU
(T) -(x-3) 3.Z-60 “m-n syanigl 7 Sie0 auGUBGIaied mRn” erens SBHALLTSLD.
. s OaTLTY R euenguwmisslitl’ L me0 R eleiugl Fomerd GHTLTL li)gLo& 4
== —5vV3x —x2 — +—sm1< 2>
2

+c o160 [BlerpLTebb. (a,c) ER, aaBau(c,a)-gy GBaidbsTed FFLITGID.
i) sBaL (b: iii)sLiy: aglon Cardbs Galemguideoemey.
= ==-5V3x— 2% — 2+.sin"" (zjf‘) +c m—-m=0=0+7=0,0e 7-o460 auGUGD.(m,m) € R iv)giomerd Ggm iy
Qauigat: ~ R oyoigl SBaLIGID. R g awnang Gzniune o mards (c,c),(d,d),(c,a)
)f 2x—3 x 2) f S5x—2 dx 3) f 341 d i) FLo& i P 2 miliser GaredsiiuL GauemihLb.
z;ﬁlu 2;335”2 2§;+%x+3 (m,n) ER aeisk €z —=m—n= k/7 6. A C {a,b,c} _mm.@uo' R = {(a,.a)', (l?.,.b), (C.l, c)}: .
4) [ ——=dx 5) f dx 6) [ ——— GamLiy R-gy (i) sBal B (i) swsdm (iii) sLiy (iv) swreng

V9+4x—x2 Vx2+4x+1 _ (=K - . . . / . S .
1. BERIRIBEIT, Q.E)rrl_rrLlaserr IDBEID ST = N s /7 = (n,m) €ER - R ooz Fw&neLb. gisur)r;g; U@ﬂf iggj:;m&?@;g&@&m&um Gouemngu

1. & sewmiselear o miliseier eeauenibend m wBpid k . AR
- . . : . . . . o ii) L LI i) HBa (b

GLD. (PFH6L HEWISHH V6N 2 I HewimiBbei6i  6lemTenlldhemas k o ) o .

BIWILToug SewSHler 2 L Henimhidbellei eTenremntsemsemil (m,n) ER,(n,p) ER aesk,l€Ez=m—n= /7 ; (a,a),(b,b) € R, eian@eu(c, c)-gg Gsiidaied HHa LTIGID.

alL 112 918a6wellsd, m BmID k Hlisemend ST . n—p= l/ ii) & Lo& &r:
L ea0f% o209 a0
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=>m—p=(k+l)/7=>(m,p)ER

N |-
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(a,c) ER, aaiBai(c,a)-m BaFihmMTe0 FIFEITGLD.
iii)sLiy: aglen Carbs BGalemiguideosme.

iv)FLomend OHTLITL:

R - gwrens Gamiiure o meunsds (c,c),(c,a) suduw
2 misen CaidsliuL. GalemiBLb.

W

7.9I06HEH BUIeD 6lemTHeIeT HeuishHe0 OFHTLL R eTaiiLig)
“ x+2y=1" ereolled XRy 61601 GUMTWIMIGHHLILIBGHBSH 6760160
SBaL B, FFSFT BB S SpFlweuBens LB SLITUIS.
R areiiug “ x+2y=1" aiedfled xRy, x,y € N = R ei&ug @
CeuBmIsha6mILD.

)smalB: R aaiugl @ OeuBpibsenid, - R oueigh sbaEl 6
SI606V.

ii)F&dm R etaiugl @ OeuBmissemid, R gieig Fo&dT
UG LD.

iii)aLUy:R etaugl @ Oeummisbsenid, R suengl L iy
SGLD.

G0y : CauBms OFSTLTImenEF FIEFST WLHBEID HLLILY
OFHTLTUTSS SH(HBHE0TLD)

8.8uie0 eenimellell danisHe Relaiug “a+ b < 6 %
BmbHHTe0 aRb” eie auenTWBISSILGHBSEI. R-60 2 _siTen
o miliysemen el(pHIH. DIl (i) sBal (b (i) gwadr (iii) sLliy
(iv) gomerd OeHTLIUT alaiLeng FiunTds.
a+b<6

R ={(1,1),(1,2),(1,3),(1,4),(1,5),(2,1),(2,2),(2,3),
(2’4)’ (3)1)) (3)2)’ (3’3)’ (4’1)’ (412)1 (5’1)}
i) ML (B:
(44),(55)¢R
ii)FLD& T
V(a,b) ER =(b,a) ER - Rz Fwosd].
iii)sLg:(5,1),(1,5) € R = (5,5) € R Oseileunas R yeng
SLLIL SI606V.
iv)gomend QFHTLTL: R Siengl Fomerd OFHTLT Die0ev.

~ R gieng BB DI6060V.

9.8We> erammenan BambHe R eraiiim “2a+3b=30 eraled Xr iy fC) il LN Y3 gy X43
” . o\ ) x < -3, 9—x2<0 [-3,3] ffO) == ; fx)==
aRb” eten1 eUTWIBIGHLILGHBGH. R-60 2 6iTen o Ml |Heme6r - -
N o A o . x >3 V9 — x2 15. f:R = R aweip amiy f(x) = 3x — 5 e
awas. oiF (i) smaE 6 (i) swsdm (i) sy (iv) Fwomears o i o : )
QMTLITUT aIe@iLmE FHLTTSHES. SbIT 600t USSR [ @k SWUBEFSTIL el BlabilHal, S
2 3p = 30 _ 30-3b BueoTg| GBTOTNSDEISH  HT6uISb.
a+ 30 =30 = aN= x=-1, x?—-1<0 [-1,1]-6@ Geuefluled f wBpb g spFumel BHUBFSTILTEAID @EBIS0BT6EI)
a 3 6 9 12 x<1 x2—1 S{EMLOULD CrTotpraab @més s GUUTG gof =1 ,fog =1,
—o0,—1] U1,
b 8 6 4 2 Sewr (o0, —1] U[1, ) f(x) =3x—-5 =>y=3x—5=x=y—+5=>g(y)=y—+5
R = {(3,8),(6,6),(94), (12,2)} Buioong! . :
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A

d

T
(6,6) € R-m saly omp 2 miiysenr (a,a) € R. = R sueig)
SIME_([H  DIGL6V.

ii)&wéiﬁr:

(94) ER = (49) ¢ R ~ Raeag Fwsd] ole06v.
iii)sLiy: Osefeuras (a,b), (b,c) €ER = (a,c) & R R syevisl
SLLIL SI6D6V.

iv)giomend QFHTLL: R suedl Flomerd OHTLTL Dle0ev.

* Seosasg OB g6l elFFasamnds STEMIS.
—1<cosx<1
= —-2<2cosx—1<2
= —-2—-1<Z2cosx—-1<2-1
= —-3<2cosx—1<1
1 1

= —-2= =
3 2cosx—1

1
1

il
2cosx—1 — 3 2cosx—1

f =i algmp = (—o0,—3| U[1,00)

v
S

)

1 ) ) . ]
11. f(x) = Pyl U IFFHID HTEWIH.
—1<cosx<1

= —3 < —-3cosx <3

= 1-3<1—-—3cosx<1+3

= —2<1—-—3cosx<4

- _1>_1 S
2 1-3cosx 4
= <-C j——>=
1-3cosx 2 1-3cosx 4
f —si ofgzai = (=00, —2| U[;,00)
9—x2
12.Qwou gy &mir &1 xX) = 6T6ur
By ey f syegl f(x) ==

QUMIWIBISHLILILLTD SiBeT FTHWiomen LG
FTTUSSMSH STEHIH.

T e T T R R o T e T T R T T T T T T R R A R A T T W W A T W W L L W W A A W A W S S W

x=0 6UMTWIMISS
Buieomgl
WBLUGLIH  FITUSLD

=[-3,3]N[(—00,—1] U [1,0)] =[-3,—1) U (1,3]

13. f(x) = —;ﬁ oty gmliedt  BLOUmH  FTTUSSHMmBHE
BITE015.
X-651 LG f(x) FiTusSLD
x < =2, 4-x2<0 [—2,2]
x> 2 V4 — x? @mew
Buwieurg)
x = -3, x2-9<0 [—3,3]-66
x<3 9 e Guieorg | Ceueiluisd
SIEMLOWLLD
(_Ooi _3]
U [3,)
x=0 QUM UIMIH D =
Buieong)

LGS FATUSLD

=[-2,2]n[(—»,—-3]U[3,0)] =@

14. f:R - Raeip amty f(x) = 2x — 3 eten

aueupISslLReE f @ QGUBSFFTY aar BlaUido, oiger
GETTleners SHTes.

f oBmib g eFuiemel EHUBFSFTTUTHOD @6THIS6CH TN
CrTompraad Bmés sl GrutG gof =1 ,fog =1,
f(x) =2x—-3 =,~y=2x—3=x=yT+3 =>g(y)=y7+3

(gof) (x) = gl2x — 3] = Z=2 =
3 3
o000 = (2] =2(5) =33
wgof =1, ,fog = I,
é .I_D[_f}r-jilLb g.g%,@ﬂu_l.amm{ BBUBEFFTTUTSAD 66ITBISHOISTINI
BTLOTBTSHD B (HEGLD.
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3Xx—5+5 _ W

(goH(x) = g[3x — 5] = =——=
(fog)(x) = f[%s] = 3(%5) 5=y
v gof =1, ,fog =1,

f oBmib g uFuiemel EHUBFSFTTUTHD @6THIH6H TN
GriTommIEaD SHBGSLD.

fo =225 rw==2
—-x+4; —oo<xs—3
x+4; -3<x< -2
16.f(x) ={ x2—x; -2<x<1 e aumILESBILIQET

l x—x%:1<x<7

0 elsewhere
—4,1,-2,7,0 gflweumbpiled f-ei1 WA BMENS HT6wISD.
f(-4)=—(-4)+4=8
f)=1-1*=0 f(=2)=(=2)*-(-2)=6
f(7)=0 f(0) =(0)¥*-(©0)=0

(x2 +x—5;x € (—x,0)
17. f(x) = 4 e T2 e (5:2)
| x“;x € (0,2)
k x? — 3 ;elsewhere
aueywpIbsliuger —3,5,2,—1,0 gufweumpied [ -6t
HUIL BT  SHT6UTH.
f(=3)=(-3)2-3-5=1 f(5)=52+3(5)—2=38
f(2)=22—3=1 f(—1)=(—1)2—1—5=—5
f(0)=02—3=—3

67601

18. f(x) = |x| + x w@md g(x) =|x| —x eer f,g:R > R
UMTWIBIBSLILIGET gof BmIb fog &mems.
x| = {—x,x <0

x,x >0

—x+x=0,x<0 N —x=-2x,x<0
f<x)={x+x=2x,x>0’ g0 = { x—x=0x>0
x< 0= (fog)(x) =f[-2x] =0
x>0= (fog)(x) =f[0] =0
x < 0= (gof)(x) = f[0] =0
x> 0= (gof)(x) =g[2x] =0
v x, (fog)(x) = 0, (gof)(x) =0
19.f,9:R - R 8w §m amiyser f(x) = 2x — |x|

opmid g(x) = 2x + |x| e auenyupssILGHBS aaisd
fog-m snewis.

A

d

x,x<0
x,x>(0 )
2x—(—x)=3x,x<0

f(x)z{ 2x—x=x,x>0
_(2x+(—x)=x,x<0

g(x)—{ 2x +x=3x,x>0

x < 0= (fog)(x) = f[x] = 3x

x>0= (fog)(x) = f[3x] = 3x

v X, (fog)(x) = 3x

dasatar.N
xl=1 .

g 6IeILUMSHUID SHTewIH. DeNE! Y = X 616013
CrTHGHT 1960 FIDFFT 2 ML UIGH TSNS UDIHSHI HT60IH.

f(x) = 3x — 4 =>y—3x—4:>x—y;4
=>g(}’)=T
(goN(x) = g[3x —4 ] = 2= =

(fog)(y)—f[“‘*] 3(=* )
v gof =1L ,fog =1,

20.9m alBusmer LIFHHHuler e aUHLOTHISHMSHD
@hsa grmy A(x) = 30,000 + 0.04x. BFE x LS
ST B Qummellar allemeulodlienLl dHLITWITS

GB&ES OB alBLmeTsH SHenBuled 2 6T6m DIUT DS 60T
auqporend S(x) = 25,000 + 0.05x eienid FmirLnesd
GSsILBSBS eefle, (A +5)(x) srewis. Gloguild,

¢. 15000000 I 6T QUITHL H66N  DI6UTEH6IT(HEU(HLD
HalHHHICW alBpTed GHBU CTHSH eUHLOTETH S MmeIsH
B60T b ([Hb.

A(x) = 30,000 + 0.04x S(x) = 25,000 + 0.05x
Quorss eumwrend (A + S)(x) = 55,000 + 0.09x

x = 1,50,00,000 erafied (A + S)(x) = 55,000 +
0.09(15000000) = 14,05,000

f woBmib g %&é]u_l@neu BBUBEFFTTUTSAD 66TBISHOSTETN
GrToTmIEa|b 2 6iTeng).

o= @ =5
=3x—4

21.umyesianl 19edl(hbg CFe0Fwerd OeulILbHlenevdh@ LTBHILD
5x 160

gy y _?_T e1edl6D, Y-ai1 GBToTmI SMiTLlenend HTewisb.

GBiTomm) FATYWD e &TL 6leTeYD SHTeuIH.
f oBpib g SuFuiemer EHUBFSFTTUTSD Q6TBIS6S TN
Grpmotpraad @wmes s GUUTG gof = I ,fog =1,

5x _ 160 _, £(x) = 5x-160

y_?_9 ; 0 9 0
_ y+16 A\ y+16

(5x—9160 )+160
5

-160
9) =Y

= x
(80N (x) = g[Z5=

(fog)(y) = F[222%9] = 5
v gof =1 ,fog =1,

f oBmib g euFuimer HUBFFTTUTHD @6THISCHTEIN)
GrBToTBTSaD B(HBESLD.

Fro) =222 () =

5x-160
= =7

9x+160

23.0&MBs&MIULBaTen Y = x5 6laim  cuenetauenyulen
UL SHewarll LweUhHH DFs wrmsmoed @8y Hendde0
BIDHBTEID FTTLIHM6T 6] H.
i) y = —x3 i)y=x3+1iii)y=x3—-1
iv)y = (x + 1)3

22.Q(m FTHTIent &r&l(‘&aag,@wrr@]ujm) QT 2 _(Hellene
LTRSS  6TEmT6wITe0 61(LPGHL LIWETUGSSLILIGLD FTiTL
f(x) =3x — 4. @sgnmnier GrToTpfeneauib, SIHGHITOTHI @
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A LBs v = x3 — 1-a1 cuedUILLD.
y =x3 aaim aumiuLSme 1 960G
SlewL L LTS @)L LILSHIOTS BB THBHIEUSTEO
SeoLnBs y = x3 — 11 euemyuL L.

iv)

24.GaTRssIL Geten Y = x /3 etep auevemeuamyuie
ULSFHmeI  LWeTUGSHS ShssTamid FriLsmen @Gy
HENHH60 UM D.

)  y=—x/3 di)y=x/3+1 iii)y =
x1/§—1 iv)y = (x+1)1/3

L4 s i

i) y = x'/3 oalip  euemeeuenyullesr X SiFFeneull

QuTpIsHs UrghusitiGu y = —x'3.qn QUEMTLIL LD
%@m.l

y=x /3 616011 UEMTLIL H0DH 1 Dlev&
BemevEGHHHTH CoeoBhTHa HBHTHHISHTED

T T e e e e T e e e e T e e e e e e e T T e e e e T e e e e e e e e T T e e e T e e e e e e e T T e e e e e e T T e e e e e e e e T

- -

25.987 sensHe f(x) = x3 wpmw g(x) = Vx aniysemen

AUMILILLOTSGHS. f0g-23 amisHsl 9I8%H Hensde0
QUMTLIL DTS GS. (PI9a]Hene U1e| CFuis.

(x) =x°

X -2 -1 0 1 2
y=x*| -8 1 0 1 8

x) = Vx == x1/3
X -8 -1 0 1 3
y = X1/3 -2 -1 0 1 2

(fog)(x) = flg()] = f (x1/3) L

X -2 -1 0 1 2
19 0 1 >

y

26.y = sinx ety &MTLleneT eUMIHH DIHEVTCLPEVLD
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Wivw.Pgdasatar.Net 1 S N . TS ; T
S uBs y = x 73 + 1-61 6uenFLILLD. i)y — sin(—x) i) yn— —sin(—x) i) y =
| i) y = x/3 AFD UDTLLSDS | DIvE sin(5+x) iv)y = sin(z—x) SLFBUIUBEDB UM .
5 By PmesGSHM1H BIPCHTHE HBTHSHIAIHTED = sinx
HeoL1ILGs Y = x5 — 1-61 auevyuLID. —2m —3”/2 - | =T/, T/ 37T/2 21
, e : : . iv) y=xl/3 6T QUILL S 1 SlevS y |0 1 0 |-1 01 0 -1 0
i) Yy = X~ el GU@UL“—LDSY oFmg CUTBIHSI SmLIDL LTS S)L_LILIGSHIDTS
i 'j]UQﬂUgﬁUU(.E@ y=-x %@'ILD' BSTHBIUBT Hw_LCs y = (x + 1)1/3 -60T i) Yy = sinx eieip euengULSHet X DiFSleneuLl
ii Yy =Xx> 6B aumIULSHmDS 1 D6V AT . i i) .
Bewes@Ho1E GLaGHTHD BHTHSHIBTE ? 3 gz&?b@@ iBlediGL Y = sin(Tx)gnColanLib
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(12 x 2)log5 — (12 x 3)log2 —12log3 + (7 X 4) log3 —
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n(AUB) =24+ 24 -6 =42
(i))®L1b 5, elpdal S

L1 1 2 3 | 4
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(4.3.2)(2) = 48
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5. "EQUATION" e1aiiB eunirdhenguied o _eitenm 61(L05HHIH6M6MLI
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(D)2_WerWSHSIB6T QRBTE UMD EUMBUNED 615 TN
(WDSSBIF SPRIBEM6N 2 _(HEUTHBH60MD?

(iD)2_W0rWSHSIB6T PHBTS MITSH UMBUT6D 615 56N6T
APSHSIF STRISMET 2 (HEUTHHEVTLD?

(DHowrss awsaiset 8 (E,Q,U,A,T,I0,N);

o Weywsaser 5 (E,U,AILO)

n OeusiGoupmen GUITHLH6MeL SN L  eTexTenlldemasulleoment
m QUTL&6T GIGUTIDSILD QPIBTEH UIHLD euenBUIeD 266
aufleng LoTBBRHIGeTe aapeamibmas= m! X (n —m + 1)!
@®mg n=8m=25,

o WEIWSHSHIH6T QDTS UHLD eUMSBUIED © 6T6N 6T(LRSHHIF
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o WETWSHSHIH6T QEIBTS UHLD WBBID UITH 6UenBHUT6eD

® 6iten IWHHF Fymiserlen elemrenildbmad= 8Pg =
8.7.6.5.4.3.2.1 = 40320

o WIEIWSHSHIH6T QDTS aUITH UMBUID 2 66N 61(LHBHIF
FBIB6ITN60T  6T6u0T6001 b 6mH =

o WEIWSHSHIH6T QDTS LD WBBID UITH 6UenBUiled

2 66N 6I(RHHIF STmISeTar elewienlbensd — 2 ul6F(pSHaIs6l
Q&MTS U(HLD 6UMBUTEL 2 616N 6I(RHSHIF FTMmISH6NT 60T
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2 'l (B SBGBLUSMS SibS 6UHIQUIED 615 HEN60T
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(i) abg &S GUUTGID S606OTLOD

(ii) F spveoz M euewngenws @U L GouewiBd

(iii))F eueingenw gL @GWweuTgl D4, D, gFeitenGeomy
Bmasamauied SITHH MBS Geuemi(BLD.

1 [ D
2 3 4:;D - Driver seat
5 6 7

Gbwu o mtiiearseier eauenldbmae= 7; BmHbenDHaHeren
eTewTeN bemB= 8

(Debs &L GUUTHD Bevenev:

7 Gufled QheuT QL BHT E(HBMBUIED DILDHEUSHBETET
anfledeii= 7P, =7

Bapeiten 7 B mbemdHerie0 6 GuUT DIDHeUSBHTEN 6ULEH6IT

"= 7P¢ = 7.6.5.4.3.2 = 5040

CrgHg aubfseier seenfldens= 7 X 5040 = 35280

(iD)F ooeos M euamigenwl UL Geouemi(BLd:

F (o) M ®&mfled qmeu @UBHT SHobamasuied
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Bapsiten 7 B mBendHBHerMe0 6 GUT DIDHEUSHBEHTE 6ULISH6IT

"= 7Pg = 7.6.5.4.3.2 = 5040
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(liD))F euewngenuws g GoGurngy Dy, D, gesienGeory

B mIBmaUled DIDTHH (HHH Geuewt(BHLd:

FIDIGeuy B(HBMBH6M6IT slamienidbamad= 5

Dy, D, seaenGeuny S(HEHmaBUTed DIDHEUSBHTET UL H6IT=
5P, =54 =20

F ouemigenwl gl Beusmev, gpeiten 5 Smbemaddeied 4 Guir
SIDHAUSBHTET auflden = 5P, = 5.4.3.2 = 120

Qurss aufsefler eemenisamas= 20 X 120 = 2400

8.8 QuewTH6T LBBID 6 SEWIH6T QT euflenauied
BIBSIBTTH6N.

(Detoupid 6hd B HHVID BBH6OTID 6T65H  IMHUT 6D
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L R T T T T T T T T R L T T R e N e " N N N N N N N S N L R T T T T T T T T T T T T T T o N i N N N N N N N "N "N N "N
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(iid)e1bd B(H SLEIHEDHD PSMTH HIBBHTLOG 615 FH6N6T
U sefed HiMBa6eOTD?
(i) 8 Quewise WBBWID 6 SewiseT = 14 BHUTH6I
8 QuemidH6T LOBMILD 6 SLEwHIH6T T euflengulsd 6bd
BL HHID BBHEOTD CTETLUSHBHT 6uflend  LOTHBMBEIS6T6H
clewtenibens= 14P;, = 14!
(ii) STRING METHOD: m = 6,n =8+ 6 = 14
afleng OIBBHIGeN6ET eavianldmae= m! X (n —m + 1)! =
6!x(14—6+1) =6!x%x9!
(iii) GAP METHOD:m =8,n=14,K=n—-m=26
aflens OIBBHIGeN6ET eewianlibma= m! X (m + 1)Py

= 8! X 9P

9.INTERMEDIATE 6B eunitsenguied 2 _eiten
AWRSHSIBMENL LWSTLBGSHSH SPSSTEmID BHILIHSMEINBEHSHES
2 'U'[H 5HM 6I(PSHBHIF FPHIEEM6N 2 _(HeUTSHSH60TLD?

(i) e ulir erupdH@ime WBBID Gl 6(PSHIB6T DBHSBIHH
QU(HLOTDI

(i) erebe0m 2 _WICOTRSHSHIBEDHD PHNBTSH GUHLOTHI

(iii) 2 WErWsHSIB6T PSBTS UITS GUMBUTEL

(iv) abzp B® 2 WCIWSHBEHD BT UITSH 6N 6D

QrTss 6psHHIHeT6 eeamienlbamns= 12

o uileyupsHaiseaiar eevieldme= 6 (I,E,E,I,AE); Byewi®
I, weaim E o eiteng.

Qur eupsgiseiean eeasielsmas= 6 (N,T,R,M,D,T);
@gewih T 2 _eTengl.

(Do 2 ulbjwsz LBBIb @k U awRdHs NGSS6HS)
QU(HLDTMI:

o WlGrwsaIsalen eufleng LOTBBHIGEITEIT 6160016w15H6NH =

6! _ 654321 _

21x3! ~ (21)(3.21)

QUi srpsH iHeier euflend LOTBBHIS6NT 60T ammﬂa%am&,:i!:

2!
654321 _ 5.1
(2.1)
Qursg eaufleng LOTBBHISHET6T  6T6wTemnTHMmB
= 21(60 x 360) = 43200
(v WpFHevled o uloyusHsl Leterm Gl e1pHH (1)
(WPFHeVIeL OIou1 6T(SHSH! LevteonT
o WErwsHal eter 2 euflss o eienigemed 2! eu(hLd)
(ii) STRING METHOD: 2 ulGypéaiseien eemienildbmam =
6;n =12
Qs eauflens wrBpmISeiler seamenldma= m! X
m—-—m+1)=6'x7!

@E&gz}f@etl, cpasiml B oppid @yewi® T 2 _6iTensmey,
y NN . .o 6!x7!

Gxpemeuwimer euflews LOTBBHIGET 6T  6TevT60T&eNd = St =
720%5040 _ 4 =100
2X6X2
(iii) 12 erpsaismenud QETemiL euflend  OTBEBHIGET 6T

12!

21x31x2!

= 19958400 (~®yewiy I, cweiim E wopmid @yewi® T
® 6lT6N&HT60)
Bxpeweuwier euflens oTBBRIG6T6T eTewienlldbamns=12
(S SBIBmeNUD OBTewIL auflend TBBEIS6T6  6T6vT6mNHemd
— et60e0T 2 UWIOISHBHIBEHD QEIBTS QUHLOTH 2 6IT6T
auflews LoTBBREISET6  6T6vT60018H6mS
= 19958400 — 151200 = 19807200
(iv) GAPMETHOD: m =6,n=12,K=n—m =26
aflens wonBpBEIseier eeamanisms= m! X (m + 1)P, = 6! X

6TGUGT6001 5608 =

7Pg
Bxpemeuwiment euflengd LOTHMHIG6NT 6T 616001601 NS = _26,!:37,1:(62, >

720x5040 = 151200
2X6X2

. -
WWW. TTD TN

sMLF 2 Devbdsmiben 12 ereiled aUH6IM6T 616mT601SHmNSH =
= =12 (3 aaoisms= 2)

sMLF 2 DevbBmIGHen 24 61ele0 aUNBH6IM6 61601601 dHNSH =
2!4712!= 6 ( ~1-a01 elemiemilbend= 2; 3-6iT olewTenlbmB= 2)
HMLF 2 De0bHBMIGH6T 32 61ale0 aUNBH6IM6 61601601 dhmNSH =
2 =12 ( vlei aavoisms= 2)

49160 au@GUGBLD eclamideiear eenienlidens= 12 + 6 + 12 = 30

10.1,1,2,3,3 wBmpid 4 el SevdbIRIS6T FHelHHaNWLTS
SlLemLulled eTRSLILLB6iTengl. @ 6 —BevsHs  616wTen6uT
SMLES BHS B S mLSmenud auflengILBSHHIDBLTSI
(i) espmen GeuciGoupmar 6 —&e0HsH 6TEwTHENET
® (HeUTSHEHEVMLD?
(ii) DeuBpled eIHHmeT 6 —BevdbE eleWIB6T B L LiienL?
(iii) BouBpled aHBHMmenT 6 —HevHs eTewTH6T 4860
aGU®BLD?
1-661 eTeuuTEONBMB= 2; 3-631 6T6HI6NNHMB= 2
(0)1,1,2,3,3 wompid 4 o6y elewibenen Cameni(®
2 _(HUTHBILUBILD 6 —Bevdbd eTeuTdHellletn  6T6wT6uNHmMEBH=
6! 720
=—"=180
21x2! 2
(iD)@ylenL i eeflsd 1oub BL SHFHe0 2 (D) 4 aubHLD.
() ) ) ) H@M™
5! 1!

5!x1
QUL D61 68T 6T6u0T600T &b 6m B = 2':2' =30 ( ~1-a1 elentemidbensd=

2; 3-681 elewiewlBand= 2)

B mLlILemL  eTenidbelet elamienibans= 2 X 30 = 60

(iii) 4o160 UGB a@iled BMLE 2 Bevdbamiser 12,24,32
aH OmHs CalemiBib.

11. GARDEN eaiB euniigemzuled o siien 6I(DHSHIH6m6N
aflens LIBBSHIHIBG 2 L LGSHHS LSS 6I(IPSHIF
FIRIGMET QYhiFlen SEITHuied o eiteng Cumeiml
auflenslILGSSHIDCUTSI, SPHBTEVID UTTHMBHST HJHMSHD
BRI,

())GARDEN (ii)DANGER

Q)
4 1 6 2 3 5
G A R D E N
5! 4! 3! 2! 1! 0!
3 0 3 0 0 0

GARDEN aaip anmrgensuler syb= (3 X 5!) + (3 x3!) +1
— (3% 120)+(3x6)+1=360+18+1 =379

)
2 1 5 4 3 6
D A N G E R
5! 41 3! 2! 11 0!
1 0 2 1 0 0

DANGER et aumiidhenguier HLb
=1x5D4+2x3)+(@Ax2)+1
=120+12+2+1 =135

12. THING e1eti3 aumiidHenguiled o 66N 61(lpSHHIHem6N  auflend
TBBHHBEG 2 L LBSHSH 61HHMEN 6I(DSHHIF FIRISHEn6I
Gupeurd. Goeild, BFHemer SBIFD DBHTTHUTED 2 6iTeng)
Guneipl auflenaILBSHHIDCLTSH 85910181 61(IRSHHIF FJLD
GTGTETOUTS  E(HHGLD?

4 3 1 2 5
N I G H T
41 3! 2! 1! 0!
3 2 0 0 0

NIGHT —ait smb= (3 X 41) + (2 x3) + 1
=(3x24)+(2x6)+1 =72+12+1=85
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13.TABLE eeiB eunisenzulsd o siten e11pdHpisenen eauflens
TBBD CFUIFH HMLSGD 616D6VT 6I(RSSIF FIHISEETULD
SEF0 HEITHUTd 2 sitenLy auflenFLITE SHIENLDSHDHT6V,
SPHHMIL UTTHMBHST FHJD HTERISD.

(i)TABLE (ii)BLEAT

Wyw.Pdad

T T e e e e T e e e e T e e e e e e e T T e e e e T e e e e e e e e T T e e e T e e e e e e e T T e e e e e e T T e e e e e e e e T

)
5 1 2 4 3
T A B L E
41 3! 2! 1! 0!
4 0 0 1 0
TABLE eieti3 eumihenguier HLb
=@x4D)+1(1D+1=((“4x24)+1+1
=9%+1+1=98
)
2 4 3 1 5
B L E A T
41 3! 2! 1! 0!
1 2 1 0 0

BLEAT eieiiB euniidenguilent Sy
=(1x4D)+2x3D+(@Ax2DH+1
=24+12+2+1=39

SR N ) p ) [1+2+ 3 + 4+ 5](1111) W
= 4P, x 21 x 1111 = (4.3.2) x 15 x 1111
=24 x 15 x 1111 = 399960

16.0,2,5,7,8 eai3 Bevdamidell WG SHHbOU 6UITSH
almaUlsd o _(HeuT@lD 6T6v6T 4 —B60HdH 6163015 61T 60T

Gl BHOBHTNHMUIS SHTCITD.

@ng n=>5r=4

Cam@saul L n Aeudshiseisd 0 @ Beudhsld e6fley,
BaBenpd OBTMIH 2 (HaUTGHD T —B60Hd  6TemTa6i 65
FBFHe0= {n — 1P,_; X(Bevdamiselen gn{HdHev)X

1.1.1 ... 1(rweom)} — {n — 2P,._, X(Bevdbamideaien dnBdHe)X
1.1.1....1(r — Dpenm) }

= (5 - 1)P(4_1)[0 +24+54+7+ 8](1111) - (5 -
2)P4-—»[0+2+5+7+8](1111)

=4P; X 22 x 1111 — 3P, x 22 x 111

= (4.3.2)(22)(1111) — (3.2)(22)(111)

= 586608 — 14652 = 571956

14.1,2,4,6,8 a3 Bevsamisemen OsmemrH

2 (HeuTHsLILED 616060T 4 —B)6VSHH 6IIH6TT Fn[BHHM60SH
BHTEWIB.

®mg n=51r=4

n uFAwwosp Bevssnsmend OBTeNI(h 2 (HeUT@GHLD 616060T
r —Qe0ds eamideien dFmBHeo= {n — 1P._; X(BevdbsmiHeler
F@mpHv)X 1.1.1 ... 1(repens) }

Bxpremeuwimert Fn(HHe0

=GB -DPu_p[1+2+4+6+8](1111)

=4P; x 21 x 1111 = (4.3.2) x 21 x 1111

=24 x 21 x 1111 = 559944

“(n+2)C:(n—1)P, = 13:24 =

17.(n+ 2)C: (n — 1)P, = 13: 24 aafled, n —a1 0H 160U
BT,
n! n!

nCr = rix(n—r)! ;nPr = (n—-r)!

(n+2)c; _ 13
(n-1)P, 24

(n+2)! (n-5)! 13
n-5)Ix71 " (n-1)! 24
(n+2)(n+1)n(n-1)! 113

7.6.5.4.3.2.1 (n-1! 24

= (n+2)n+Dn= g X 7.6.5.4.3.2.1
= n+2)(n+1)n=15.1413 =>n =13

15.1,2,3,4 wBmid 5 aaiB Devdbamisen Lewi(Bld &l(mHbu
AUITSH UmBUTEL 2 (HeUTGLD 6T6060T 4 —@60dd  slewTa6r6ir
L BHOHTnHMUISH HTC0IH.

®miEe n=51r=4

n yFAwwosp Be0saRsmend OBTeNI(h 2 (HeUT@GHLD 616060T
r —@odhd eanidelel gmBHeo= {n — 1P,._; X(BevdEmib6r 60
a@mboHe)X 1.1.1 ... 1(repes) }

Bxhremeuuiet Fn[HHeL

18.9m alamgsreaflsd 2 sen 8 alameseaied 4 allamdssl
UGS Sralid 4 elemdbser LGH S-aleld o sitemer.
Caitey erupzILeuT 5 elamabsseEndsd ol welss CeuamiBLD.
BPHBMIL  HILHSHMSBMEN HeNBeYOFUILID 6UenBUT6D
aspemer alfiseafed pemendF OCFuiuIeoTLD.

(DB®m ueHsefedmbaiId eeials S HUUTEHID E6060TLD6D
ahsme allemTadsamen GeusmiBomemmevd BsiTey GFuIwIeVTLD.
(iD)@oshaul gD Qe eleammosmenuralgd LG Si-aled
Bmbal elpg CouemiBLD.

(D)Owrshad o sten 8 alemasaflelmba 5 alermdasamern

876 =56

Gxiey Gauwibd euflseTr= 8C; = T3

(i1)
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UG UG BT BeMM6T  6Te0T6m&HeMm D

o b

2 3 4sz4c3=—x%—6x4—24
3 2 4C3><4C2—%><—_4><6—24
4 D40, x40 === x 2= 1x4=4
OoTSH LD 52

19. PROPOSITION egnib eunirgengulled o_eiterm
(RSHSIHMENL LIWSLIBSSH 5 61(DSHSHIH6160 61556M60T
AWRSHSIF STRISMEN 2 (HEUTHSHEVTLD?

Qursg epsHHsenT= 11; P —ar eenwienfldens= 2; [ —ei
cTewIemNHemH= 2

0 —&1 arewtenidbemad= 3; GleusiGoummen 61(Lp&SIH 6N 601
aremtenfibens= 4 (R,S,T,N)

11D SHHIHEM6I  eUTUILIL|SH6NT BT H61T 68T  6T60T6m1d6m D
P,R,0,S,I,T,N & &mps | 7Ps = 7.6.5.4.3 = 2520
5 OleusiGeummed 61(LDSHHISH6N
3 98y awsHal 16, X 20, X —— =1 %
QEWGUUH_OOO —@61) 1 54.3.2.1 IZI
Onei,PP, Il - Bobsl | 2% 5,57 = 20
1 Gamyg
3 961 awdsi 16, X 6C, X > = 1 X
Careni 000 —8ev 1 6.5 _ 5.4.3.2.1 >
QFHTSIL, 2 GCeueiGaumment 122 321 300
awsasen (R,S,T,N,P,I)

PP,11,00 =@ @®hHsl 2 | 3C, X 50, X —— = 22 x
Ggmg, R,S,T,N,(P/1/0) — 54321 o 12
B0 1 611p5HG 5 % 1212 ?50
PP,11,00 ~@s0 B®mbol 1 | 3¢, X 65 X 2 =3 X
Ggmg, R,S,T,N,(P/1/0),(P/ 654 54321 3600
1/0) — 0 3 a5 1.2.3 21 _ A\

Qs Cairaysefer 6890
TS

20.5 gfiflwitasen wBEID 20 wTeweTHeMNeD S(HHHI 2

S FflwitseT wHBE@ID 3 WTemelTEmansd CETHIB @b &
SIMSSLILBHGBGI.THSHme alfiEeiled BFHemend
Gauweomd? Guogb BeuBiled BDEHSTEID BILHSHMENHS

2 LG dSHHMN G(PSHHMENDS HTERIEUTLD?

(Dosewalsd g GEIUILL ffwr 2 erereury.
(iD)oBEwaled g GEULILL WTE®RIeUT ITHeUTHI.

5 gFiflwitseisd 2 oudflwiset wBmid 20 wremelTHeis0 3
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realismen Gsia GQauid eaufsst= 5C, X 20C; Wivw. PSR oimLosaEeoT. W TTDTIRSC.COM oy e | GiGw | ayemt | GG
_ 54201918 _ 14,00 (i) sflwrs 3 GQueRTH6T G)HBESLOTHI. 3) 4) “) 3)

127 123 . _ ) ) (ii) GoBhaULFD 3 QUAKIST BHSGINDI. 3 3 3C3.3C;=11=1
W 1, QRIALL Afuh Guis (facsher syffutadsr (ili) SFsursd 3 GuEIEH BEHEGLTD. 2 | 1 | 1 | 2 [3C,.4(,.4C,.3C, =
oTemTEmN N B = . 5
4 g fflwirseisd 1 dfflwirser wBmId 20 wTeweuTHeils0 3 0, > - - - —— 3443 soCit

. . - . OQuew(4) | suemt(8) Baiteyseriledr  eremienildsena 1 2 2 1 3C;.4C,.4C,.3C, =
rewreuTsemen BGxie) Gauiud eauplser= 4C; X 2005

20.19.18 3 4 8.7.6.5 3.6.6.3 = 324
(iD®weled BL1bOUMBTS wreweufler eewienibme= 1 =280 o OCrshs Baireysefer 485
5 g dflwirseied 2 o dflwirseT wBmID 19 wreeauTseisd 3 (i) 6T6UIT 6001 6N &
reniaTeemen BGxiTe| Gauiubd eufleset= 5C, X 19C; Quiewit (4) a1 (8) GoiTeymermen 616wT60THMS 25.90 OuLiguiled @JewiG OCleusTenerll LIHSIS6T, cLoeisI
_ 34 191817 9690 3 4 8.7.65 SHUUL UbSIS6T LOBHILD BTeTd Feulill LbHS6T 2 6iTerme.

12124 : —ayel. : 43 x 8L, =4 X570 = QUL pulsd BMbS! AT LbBIBDATS BSTHESBEED

?'52 gL@.EEg @&”g“% o0 ag.L(o%B& 5%@@‘%5@.‘ v 4 x 70 = 280 GuITgl, SieuBMed GMBHHULFD @b SBIY Lb

LGomeand Coia Guwd gabang Gsfalaw 4 3 AC, X 8C.= 1x 78— 1 x BBHGIIE aHsman_ aifsals GsimnhosBahHeD?
GIQUITIDBID CLPGTTN CJer0OBET 2 _6iTeTTeuTyl 61dhHmet GFTe)H6lT 4 3= TENY BGOUG) | Gousiamen(2)+ Aauti@)=6 | Cafraymaian
@®$@$ 6[60'[&3. &Brreftitir&,. . ' - 56 =56 : 6T6%1 6001l S 6m B

LB srmiemidbans | Gzt G ey serilest QoTgs Gaiememe 336 1 5 U 65 _

g&u_u.u 6160016001 6N H TaneN B 3C;.6C, =3 X oo
QUGKTIQUI 3.15 =45
seenl e S : Gofroymefian aenema 2 1 3C,.6C, = 3.6 = 18
s 4 3 23 @um(ﬁl.) %@‘0—[(8) FIT6YBH611160T 61600160011 EH6MH 2.001 = 0.6 =
7 4C; =—=4 0 7 4Co X 8C, = 1 3 0 3C5.6C, = 1.1 =1
LDB3EmE 48 2 48C, = 4847 87.65432 _ Orsg Caieyma e 6l6wT6w0N5mab 64
— 1128 1 : 223-4-5-;2 PRV 26.EXAMINATION a3 eumidensuled £ sfien
_ _ . _ _ X — X — . . . . . o .

Cordhs Caiayserien eewienidbms 4 x 1128 = 4512 A ; g _6112 1.2.3.4.5.6 ;@fﬁ:ﬁgﬁqﬂhﬂm@ SISHOM 4 6IRSHSIF FIRIBEET
22.7 @pguiest wppd 5 Sl6wlssiseis Snbel ‘ 5 5 AC. X 8C. = 13 » 87654 _ Curss ewsase= 11; A —a1 aewenibme= 2; [ —e
grrr,@ugrrasm. SIPE SleN6i6d BeHoLUgLTeT 5 E’U”&.’?m&’ 2 > 127 12345 aemienfibend= 2 N —e1 elewienibemnsd= 2; GeuciGoummer

BT 615HDET aﬂg,mn.am.@@&&ﬁmm IS BEUMLD] 6 X 56 = 336 e

@OphHWiTHe(7) | SIOWTNHHTH6N(5) Ba a6 6o 3 4 432 8765 B> o — - T e —_ye

sTenTe b ena 4C; X 8C, = 53 TDSHBHIBEMET  UTUILIL|BH6IT Fire|BerMedt  eTeunteunlldhend
5 0 7C X 5C 1.23 1234 E,X,AMLNTO0 & 8P, = 8.7.6.5 = 1680
5 0 il _ . .
7.6.5.4.3 4 x 70 = 280 Bmbs 4 CeueiGeupmen
= T2gasi1=21 Cloms Gsfiayserile 736 SIS SIS6MT
4 1 7C. X 5C, = 1654 oreuit ol AA,II,NN —@60 Bmpal 2 |30, x —— = 32 2321 _ 4q
4 1 " Lol .\ B 3 S 2 XFr - 12 X 2121
K 1234 24.9M IS 4 OIS LBDID 3 SENIE6T 6Tan 7 Gamg w2t L 1.2.
5=175 o melearssl o eeneil. Sujdl enaialdd 3 CLewS6IT AAIILNN —@6 @mbal 1 | 3C, x 7C. x £ = 3 x 28
3 2 7C3 X 5C, OBEID 4 SYLeWIH6T ot 7 2 BeleNTE6T 2 6ilenelr.g &6y Bemg, E, X, M, T, 0, (A/1/ 43;1 272 1.2
_ 765 % 54 _ 350 almbIBG 3 OuewizeT LBHID 3 YWIH6T SjEMPBBLILIBLD N), (A/I/N) —@60 ©rba '2:1' = 756
Oora . : — 123 1.2 Gurgl, syewiar 2 _meleniser 3 GUT WHEID SeUTH ) . 3
s Baireysmeflein ereuwremntdbma 546 . .. . . A ST SHSHIBOI .
weneraluier o melertsst 3 Gui eemBeurm all[HbH 60 O Garaymean 2454
23.8 gewide BEID 4 Cuewiseisd @mba 7 Guir SHVHFHIOBT6ITEN 61HHM aUPH6Med DjenIPSHHEVTD? am&g;gﬂ)ésas)&,
CaTeNiL G SIMDSBLILIGISBIBIGH!.SLDHHTEILD aeuoTeu 6ot LoGw TGN U T 65T Bairem6MM60T 61601601 & 6NSH 5 5 : . : LS
BDUbSHmITDW LYTHEH OFUILD auensuiled 615560 ©_m6yB6il ©_BeS6l 27.15 yeireiseiied 7 yeiellse g® GaTiipgid LoBHID

& (psiten 8 LieiTerlasll LoBOBTM SenentdBaTL 19gIlb
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SIMHSHIeTeNE elafled BbP 15 Leierdemend GEBTERIL
ASHSMN (LPSHCHTMISHMENT 2 (HeUTSHSH60TLD?
(p&HCamemID 2 (Heurdd 3 Letelamer BCxheme.

15 yeiteaemedmba 3 Ueteflaenend Gamenih

o (HauTdhaIUBLD (WoHBasmanimiseile eewenismes= 15C; =
15.14.13

= 455

1.2.3

7 yeiteflae oGy GmniThGamigsd o etengred 7C3
(PSHCHTEMIRISHET GUMTU EUIGOTSI.

8 yeitellmem @By CniThBsmiged o stensmeo 8C;3
(pSHBHTETRIFBET QUHTUI  EUIGOTS.
Bxhremeuwimerr (LHEHGBHTemThIGE 6T  6T6NT6u0N &M ®

_ 151413 [7.6.5 8.7.6]
T o123 1.23  1.2.3

= 455 — [35 + 56] = 455 — 91 = 364

W

vw.P3g

a(ax s)ﬁ\we OIRILIGHI 2_GUTenLD 61601 0O\BT6ITE.
(iii)P(k+1) eretTLIghl 2_6wTEmLD.
(iv) el sH0aTEHSHIMBH0 OETaTenasUTaILILY, 6T6060T (LP(LD
aTewIHel N = 1 —H@GD BB 2 NIenLOUTEGLD.

— V1 —x2)5 —ag@ umebmed (psHCaTaNTSH 6aUSI

1la® —5a*h 10ab* —-10a®b° 5ab* —1b°
5 5

(x2+V1—x2) +(x2=V1—2x2) =

aufeng

5.FmEINYS Cammb, OSHTLT(penBeE6T BB CGHTL TH6IT

28.9 FengFHev 11 Leiefamer o eitenianr. BeuBpled 4
yerefaemens SHaly BB ebd 3 Lememaepd @By Gsmiiged
SIMLWIRTEOME0 61660, HDSHHERIL UBENDBS  HT6IIS.

(i) ®uyerefizsefled g Gamg LeTeiseflamsd SjenLoujb
Cas1(B®H6T 61HHMm6nT?

(ii) @b yeefimemer (weneill LsTeflaemads Camemi®
ASHMAN (PSHCHTENMBISHMEN HENLOSHHEVTLD?

(Dam Bx1h euemgwl 2 UeieissT BxHemal.

11 yemefaemensd Gamewi(® euenTuIlILIBLD GamBaer et
11.10

aewtenlbens= 11C, = 1——55

28y Gamliged o siten 4 LeiTelldemend OFHTewIh o (HeuT@GLD
BarBaeres
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